
Manufacturer reserves the right to discontinue, or change at any time, specifications or designs without notice and without incurring obligations.

Catalog No. 04-53090039-01 Printed in U.S.A. Form No. 09-30-38-17SI Pg 1 1-24 Replaces: NEW

Installation Instructions
Part No: 38AP-900---41 to 38AP-900---55

CONTENTS

Page
SAFETY CONSIDERATIONS  . . . . . . . . . . . . . . . . . . . 1
GENERAL . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 1
PRE-INSTALLATION . . . . . . . . . . . . . . . . . . . . . . . . . . 2
INSTALLATION  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 33
Step 1 — Install Wind Baffles  . . . . . . . . . . . . . . . . . 33
Step 2 — Install Accessory  . . . . . . . . . . . . . . . . . . . 33
• 30RAP AND 38AP UNIT INSTALLATION
• 09DP UNIT INSTALLATION
START-UP  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 54
Motormaster® Parameter Instructions  . . . . . . . . . . 54
• 30RAP AND 38AP UNITS
• 09DP UNITS
• TROUBLESHOOTING
• FAULTS
• ALARMS
APPENDIX A —ACCESSORY PACKAGE
    CONTENTS . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 57

SAFETY CONSIDERATIONS

Installation of this accessory can be hazardous due to system 
pressures, electrical components, and equipment location (such as 
a roof or elevated structure). Only trained, qualified installers and 
service technicians should install, start-up, and service this 
equipment. 
When installing this accessory, observe precautions in the 
literature, labels attached to the equipment, and any other safety 
precautions that apply:
• Follow all safety codes
• Wear safety glasses and work gloves
• Use care in handling and installing this accessory

It is important to recognize safety information. This is the safety-
alert symbol: . When you see this symbol on the unit and in 
instructions or manuals, be alert to the potential for personal 
injury.
Understand the signal words DANGER, WARNING, CAUTION, 
and NOTE. These words are used with the safety-alert symbol. 
DANGER identifies the most serious hazards which will result in 
severe personal injury or death. WARNING signifies hazards 
which could result in personal injury or death. CAUTION is used 
to identify unsafe practices, which may result in minor personal 
injury or product and property damage. NOTE is used to highlight 
suggestions which will result in enhanced installation, reliability, 
or operation.

GENERAL

This book contains instructions for the installation and start-up of 
the Motormaster® electronic low ambient control on 
30RAP 010-150, 38APD 025-130, 38APS 025-065, and 
09DPM/DPS 018-130 units. 
This kit is not applicable for any Greenspeed unit (Models: 
30RAP 011, 016-060 with Position 13: D, F, G, H, J, or K and 
38APS 025-050 and 38APD 025-060 with Position 13: D, G, H, 
or K). See Table 1 for accessory usage. See Tables 2-6 for standard 
unit ambient temperature limitations, operating temperatures and 
wind baffle usage. See Appendix A on page 57 for accessory 
package contents. Refer to unit installation instructions for com-
plete model number nomenclature.
This control varies with condenser fan speed based on the input 
signal from the auxiliary (AUX) board or a pressure transducer. 
The control is a variable frequency drive (VFD) and is compatible 
with standard motors on these products. The VFD input is con-
trolled by either the main base board (MBB) and the highest satu-
rated discharge temperature (SDT) for the circuit or unit, depend-
ing on unit size, or through a pressure setting and input via a pres-
sure transducer.
When the SDT drops below Motormaster set point, the VFD 
speed is decreased based on the differential to set point. At certain 
ambient and load conditions, a fan running at full speed draws too 
much air across the condenser coil to maintain a minimum con-
densing pressure/temperature. When these conditions occur, the 
VFD will slow down the outdoor fan motor and maintain a 
set point depending on unit type.
The Motormaster low ambient operation kit can be used to extend 
the system operation down to –20°F (–28°C). Wind baffles must 
be installed to ensure proper operation. See Table 4 for wind baffle 
usage.
Refer to unit installation instructions for complete model number 
nomenclature. 
NOTE: The drive is phase insensitive when referring to incoming 
line voltage. This means that the VFD will operate with any phase 
sequence of the incoming three-phase power.
See Fig. 1-12 for Motormaster power wiring. See Fig. 13-19 for 
control and relay wiring. See Fig. 20-41 for detailed views of 
auxiliary board and accessory installations.

WARNING

Electrical shock can cause personal injury and death. Shut off 
all power to this equipment during installation and service. 
There may be more than one disconnect switch. Tag all 
disconnect locations to alert others not to restore power until 
work is completed.

30RAP 010-150, 38APD 025-130, 38APS 025-065, 
09DPS/DPM 018-130

Motormaster® Electronic Control 
Low Ambient Operation Accessory



2

PRE-INSTALLATION

Inspect the contents of the accessory package before installing. 
File a claim with the shipper if shipping damage is found or con-
tact your Carrier representative if any parts are missing. See 
Table 1 for accessory usage and Appendix A “Accessory Package 
Contents” on page 57 for item package contents.

Table 1 — Accessory Usage

ACCESSORY 
PART NO. UNIT SIZES UNIT VOLTAGE

(V-Ph-Hz)

38AP-900---41

30RAP 010 and 015
30RAP 018-030

38APD/APS 025-030
09DPS 018-030

208/230-3-60

38AP-900---42

30RAP 010 and 015
30RAP 018-030

38APD/APS 025-030
09DPS 018-030

380-3-60
380/415-3-50

460-3-60

38AP-900---43

30RAP 010 and 015
30RAP 018-030

38APD/APS 025-030
09DPS 018-030

575-3-60

38AP-900---44
30RAP 035-060
38APD 040-060
09DPM 035-060

208/230-3-60

38AP-900---45
30RAP 035-060
38APD 040-060
09DPM 035-060

380-3-60
380/415-3-50

460-3-60

38AP-900---46
30RAP 035-060
38APD 040-060
09DPM 035-060

575-3-60

38AP-900---47
30RAP 070-090
38APD 070-100

09DPM 065
208/230-3-60

38AP-900---48
30RAP 070-090
38APD 070-100

09DPM 065

380-3-60
380/415-3-50

460-3-60

38AP-900---49
30RAP 070-90
38APD 070-90

09DPM 065
575-3-60

38AP-900---50 38APS 040-050
38APS 065 208/230-3-60

38AP-900---51 38APS 040-050
38APS 065

380-3-60
380/415-3-50

460-3-60

38AP-900---52 38APS 040-050
38APS 065 575-3-60

38AP-900---53
30RAP 100-150
38APD 115-130
09DPM 075-130

208/230-3-60

38AP-900---54
30RAP 100-150
38APD 115-130
09DPM 075-130

380-3-60
380/415-3-50

460-3-60

38AP-900---55
30RAP 100-150
38APD 115-130
09DPM 075-130

575-3-60

Table 2 — 30RAP Outdoor Air Temperature 
Limitations — Standard Units

 (Non-Greenspeed® Intelligence Units)

30RAP 
UNIT SIZE

MIN. OUTDOOR AIR 
TEMP.

(Standard Unit)

MIN. OUTDOOR AIR TEMP. 
WITH MOTORMASTER® 

CONTROLa

NOTE(S):

a. Requires field-installed wind baffles.

010,015b

b. Motormaster control is standard with 30RAP 010 and 015 units.

–20°F (–28.9°C) –20°F (–28.9°C)
018,030 45°F (7.2°C) –20°F (–28.9°C)
035-150 32°F (0.0°C) –20°F (–28.9°C)

Table 3 — 38AP Outdoor Air Temperature Limitations 

38APS 
UNIT SIZE

MIN. OUTDOOR AIR 
TEMP.

(Standard Unit)

MIN. OUTDOOR AIR TEMP. 
WITH MOTORMASTER® 

CONTROLa

NOTE(S):

a. Requires field-installed wind baffles.

SINGLE CIRCUIT
025-065 45°F (7.2°C) –20°F (–28.9°C)

38APD 
UNIT SIZE

MIN. OUTDOOR AIR 
TEMP.

(Standard Unit)

MIN. OUTDOOR AIR TEMP. 
WITH MOTORMASTER® 

CONTROLa

DUAL CIRCUIT
025-040 32°F (0.0°C) –20°F (–28.9°C)
050-060 25°F (–3.9°C) –20°F (–28.9°C)
070-130 32°F (0.0°C) –20°F (–28.9°C)

Table 4 — Wind Baffle Usage

UNIT SIZEa

NOTE(S):

a. The 38APS 065 unit does not require wind baffles. The control box acts as a 
wind baffle on one side. The other side is a blank panel for a coil option.

PART NO. QUANTITY
30RAP 010 and 015 30RA-900---064 1
30RAP 018, 020 30RA-900---065 1
30RAP 025, 030 30RA-900---066 1
30RAP 035, 040 30RA-900---065 2
30RAP 045-060 30RA-900---066 2
38APD/APS 025 38RA-900---065 1
38APD/APS 027, 030 30RA-900---066 1
38APD/APS 040-060 30RA-900---066 2
09DPS 018, 020 30RA-900---055 1 
09DPS 030 30RA-900---056 1 
09DPM 035, 040, 050 30RA-900---055 2 
09DPM 060 30RA-900---056 2 
09DPM 065-130 38AP-900---005 2 
38APD 070-130

38AP-900---005 130RAP 070-150
09DPM 065-130



3

Table 5 — 09DP Minimum Outdoor-Air Operating Temperature — Englisha,b,c

UNIT 09DP TD
MINIMUM AMBIENT (°F) WITHOUT MOTORMASTER

100% Capacity 75% Capacity 50% Capacity 25% Capacity

018
30 58 62 62 64

25 63 66 65 66

20 67 70 68 68

020
30 44 51 54 59

25 51 58 58 62

20 58 63 64 66

030
30 27 38 45 54

25 37 47 51 58

20 47 55 58 63

035
30 41 48 50 58

25 47 53 55 60

20 53 59 60 63

040
30 32 41 45 55

25 39 47 50 57

20 46 53 56 61

050
30 20 35 45 52

25 25 42 50 56

20 31 50 56 60

060
30 20 30 45 50

25 25 37 50 54

20 31 47 56 58

065
30 19 32 41 51

25 30 42 47 56

20 42 51 55 62

075
30 24 36 43 53

25 35 45 50 57

20 45 54 57 63

085
30 16 29 39 50

25 28 40 46 55

20 39 49 54 61

095
30 15 26 37 49

25 25 38 44 54

20 37 48 53 61

115
30 15 24 35 48

25 22 36 43 54

20 35 46 52 60

130
30 15 25 36 49

25 23 36 43 54

20 36 47 52 60

NOTE(S):

a. Based on 80°F condensing temperature at 100% and 75% capacity and a 75°F condensing temperature at 50% and 25% capacity.
b. Units 035-130 are based on dual circuit operation. Dual circuit low ambient option should be based on circuit with lowest TD [Temperature Difference (°F), Condensing 

Temperature – Outdoor Air Temperature)].
c. Operation below minimum ambient temperatures listed will require Motormaster®  control.



4

Table 6 — 09DP Minimum Outdoor-Air Operating Temperature — SIa,b,c

UNIT 09DP TD
MINIMUM AMBIENT (°C) WITHOUT MOTORMASTER

100% Capacity 75% Capacity 50% Capacity 25% Capacity

018
16.6 14.2 16.7 16.6 17.6
13.9 16.9 19.1 18.2 18.7
11.1 19.7 21.3 20.1 20.1

020
16.6 6.4 10.6 12.3 15.1
13.9 10.5 14.2 14.7 16.8
11.1 14.5 17.4 17.5 18.8

030
16.6 –2.8 3.3 7.2 12.2
13.9 2.8 8.3 10.6 14.4
11.1 8.3 12.8 14.4 17.2

035
16.6 5.0 8.9 10.2 14.2
13.9 8.2 11.8 12.7 15.5
11.1 11.6 14.8 15.4 17.1

040
16.6 0.1 4.9 7.2 12.5
13.9 3.8 8.4 10.2 14.1
11.1 7.9 11.9 13.4 16

050
16.6 –6.7 1.7 7.2 11.1
13.9 –3.9 5.6 10 13.3
11.1 –0.6 10 13.3 15.6

060
16.6 –6.7 –1.1 7.2 10
13.9 –3.9 2.8 10 12.2
11.1 –0.6 8.3 13.3 14.4

065
16.6 –7.3 –0.2 4.7 10.8
13.9 –1.0 5.5 8.5 13.3
11.1 5.3 10.5 12.9 16.5

075
16.6 –4.4 2.1 6.3 11.7
13.9 1.4 7.3 9.8 14
11.1 7.3 12 13.9 17

085
16.6 –9.0 –1.6 3.8 10.2
13.9 –2.4 4.4 7.7 12.9
11.1 4.2 9.6 12.4 16.2

095
16.6 –9.4 –3.1 2.7 9.6
13.9 –4.0 3.2 6.9 12.4
11.1 2.9 8.7 11.7 15.9

115
16.6 –9.4 –4.3 1.9 9.1
13.9 –5.3 2.2 6.2 12
11.1 1.9 7.9 11.2 15.6

130
16.6 –9.4 –3.9 2.1 9.3
13.9 –5.0 2.5 6.4 12.1
11.1 2.2 8.1 11.4 15.7

NOTE(S):

a. Based on 26.7°C condensing temperature at 100% and 75% capacity and a 23.9°C condensing temperature at 50% and 25% capacity.
b. Units 035 to 130 are based on dual circuit operation. Dual circuit low ambient option should be based on circuit with lowest TD [Temperature Difference (°C), Condensing 

Temperature – Outdoor Air Temperature)].
c. Operation below minimum ambient temperatures listed will require Motormaster® control.



5

Fig. 1 — Motormaster Power Wiring —30RAP 010-015 Units

HIGH SCCR 
ONLY

11

12

13

21

22

23

FB1
BLK

YEL

BLU

BLK

YEL

BLU

11

12

13

21

22

23

FB3

BL
K

YE
L

TO COOLER/PUMP 
HEATERS

BLK

YEL

BLU

OFM1

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

11

12

13

21

22

23

FC1

Before Motormaster Power Wiring

LEGEND

AUX — Auxiliary Board

FB — Fuse Block

FC — Fan Contactor

FR — Fan Relay

MM — Motormaster

MMR — Motormaster Relay

MMTB — Motormaster Terminal Block

OFM — Outdoor Fan Motor

PT — Pressure Transducer

SCCR — Short Circuit Current Rating

TB — Terminal Block



6

Fig. 1 — Motormaster Power Wiring —30RAP 010-015 Units (cont)

HIGH SCCR 
ONLY

12

MMTB-A

22

2111

13 23

11

12

13

21

22

23

FB1

YEL

BLK

YEL

BLU

BLK

YEL

BLU

BLK

BLU

11

12

13

21

22

23

FB3

BL
K

YE
L

TO COOLER / PUMP HEATERS 

BLK

YEL

BLU

OFM1

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

MM-A
L1

L2

L3

T1

T2

T3

+24

DI1

AI1

DI1

+24

T3L3

L2

L1 T1

T2

AI1

AI1COM

MMR

11 14VIO

YEL

RED

BLK
FROM 
AUX-J4

After Motormaster Power Wiring

See Note.

NOTE: The wire harness has a plug which connects to the AUX board. See control schematics 
(Fig. 13) that show the wire connections to the AUX board. 

LEGEND

AUX — Auxiliary Board

FB — Fuse Block

FC — Fan Contactor

FR — Fan Relay

MM — Motormaster

MMR — Motormaster Relay

MMTB — Motormaster Terminal Block

OFM — Outdoor Fan Motor

PT — Pressure Transducer

SCCR — Short Circuit Current Rating

TB — Terminal Block



7

Fig. 2 — Motormaster Power Wiring —30RAP 018-030 Units

BLK

YEL

BLU

BLK

YEL

BLU

11

12

13

21

22

23

FB1

BLK

YEL

BLU

HIGH SCCR 
ONLY

11

12

13

21

22

23

FB3

YE
L

BL
K

TO COOLER / PUMP HEATERS

BLK

YEL

BLU

OFM1

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

11

12

13

21

22

23

FC2

OFM2

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

YE
L

BL
K

TO CRANKCASE HEATERS 

11

12

13

21

22

23

FC1

Before Motormaster Power Wiring

LEGEND

AUX — Auxiliary Board

FB — Fuse Block

FC — Fan Contactor

FR — Fan Relay

MM — Motormaster

MMR — Motormaster Relay

MMTB — Motormaster Terminal Block

OFM — Outdoor Fan Motor

PT — Pressure Transducer

SCCR — Short Circuit Current Rating

TB — Terminal Block



8

Fig. 2 — Motormaster Power Wiring —30RAP 018-030 Units (cont)

12

MMTB-A

22

2111

13 23

YEL

BLK

BLU

OFM1

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

BLK

YEL

BLU

BLK

YEL

BLU

YE
L

BL
K

TO COOLER / PUMP HEATERS 

11

12

13

21

22

23

FC2

OFM2

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

11

12

13

21

22

23

FB1

YEL

BLK

BLU

MM-A
L1

L2

L3

T1

T2

T3

+24

DI1

AI1

DI1

+24

T3L3

L2

L1 T1

T2

AI1

AI1COM

MMR

11 14VIO

YEL

RED

BLK
FROM 
AUX-J4

11

12

13

21

22

23

FB2

BLK

YEL

BLU

HIGH SCCR 
ONLY

11

12

13

21

22

23

FB3
BLK

YEL

BLU

YE
L

BL
K

TO CRANKCASE HEATERS 

After Motormaster Power Wiring

See Note.

NOTE: The wire harness has a plug which connects to the AUX board. See control schematics 
(Fig. 13) that show the wire connections to the AUX board. 

LEGEND

AUX — Auxiliary Board

FB — Fuse Block

FC — Fan Contactor

FR — Fan Relay

MM — Motormaster

MMR — Motormaster Relay

MMTB — Motormaster Terminal Block

OFM — Outdoor Fan Motor

PT — Pressure Transducer

SCCR — Short Circuit Current Rating

TB — Terminal Block



9

Fig. 3 — Motormaster Power Wiring —30RAP 035-060 Units

BLK

YEL

BLU

YEL

YEL

BLK

BLU

BLK

YEL

BLU

BLK

YEL

BLU

HIGH SCCR 
ONLY

11

12

13

21

22

23

FB1

BLK

YEL

BLU

11

12

13

21

22

23

FB3

OFM3

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

11

12

13

21

22

23

FC3

11

12

13

21

22

23

FB2

OFM4
(055,060 ONLY)

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

TO OFM 1 & 
OFM2 

BL
K

YE
L

TO COOLER / PUMP/ 
CRANKCASE HEATERS

11

12

13

21

22

23

FC1

BLK

BLU

BLK

YEL

BLU

Before Motormaster Power Wiring
LEGEND

AUX — Auxiliary Board

FB — Fuse Block

FC — Fan Contactor

FR — Fan Relay

MM — Motormaster

MMR — Motormaster Relay

MMTB — Motormaster Terminal Block

OFM — Outdoor Fan Motor

PT — Pressure Transducer

SCCR — Short Circuit Current Rating

TB — Terminal Block



10

Fig. 3 — Motormaster Power Wiring —30RAP 035-060 Units (cont)

BLK

YEL

BLU

BLK

YEL

BLU

YEL

BLK

BLU

BLK

YEL

BLU

BLK

YEL

BLU

HIGH SCCR 
ONLY

11

12

13

21

22

23

FB1

BLK

YEL

BLU

11

12

13

21

22

23

FB3

B
LK

YE
L

TO COOLER / PUMP/ 
CRANKCASE HEATERS

11

12

13

21

22

23

FC1

11

12

13

21

22

23

FB2

OFM3
(055,060)

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

TO OFM 1 and 
OFM2

12

MMTB-A

22

2111

13 23

YEL

BLK

BLU

OFM3 (035-050)
OFM4 (055, 060 ONLY)

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

MM-A
L1

L2

L3

T1

T2

T3

+24

DI1

AI1

DI1

+24

T3L3

L2

L1 T1

T2

AI1

AI1COM

MMR

11 14VIO

YEL

RED

BLK
FROM 
AUX-J4

B
LK

YEL

B
LU

After Motormaster Power Wiring

See Note.

NOTE: The wire harness has a plug which connects to the AUX board. See control schematics 
(Fig. 13) that show the wire connections to the AUX board. 

LEGEND

AUX — Auxiliary Board

FB — Fuse Block

FC — Fan Contactor

FR — Fan Relay

MM — Motormaster

MMR — Motormaster Relay

MMTB — Motormaster Terminal Block

OFM — Outdoor Fan Motor

PT — Pressure Transducer

SCCR — Short Circuit Current Rating

TB — Terminal Block



11

Fig. 4 — Motormaster Power Wiring —30RAP 070-115 Units

BLK

YEL

BLU

BL
KYE

LBL
U

TO OFM3 and OFM2

BLK

YEL

BLU

11

12

13

21

22

23

FB9

HIGH SCCR 
ONLY

11

12

13

21

22

23

FB11

Before Motormaster Power Wiring

YEL

BLK

BLU

TO COOLER / PUMP/ 
CRANKCASE HEATERS

(HIGH SCCR ONLY)

YEL

BLK

BLU

OFM1

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

11

12

13

21

22

23

FC1

11

12

13

21

22

23

FC2

BLK

YEL

BLU

YEL

BLK

11

12

13

21

22

23

FB2

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

OFM5 (070-090)
OFM7 (100-115)

BLK
YEL

TO COOLER / PUMP/ 
CRANKCASE HEATERS

(STANDARD SCCR ONLY)

BLK

YEL

BLU

LEGEND

AUX — Auxiliary Board

FB — Fuse Block

FC — Fan Contactor

FR — Fan Relay

MM — Motormaster

MMR — Motormaster Relay

MMTB — Motormaster Terminal Block

OFM — Outdoor Fan Motor

PT — Pressure Transducer

SCCR — Short Circuit Current Rating

TB — Terminal Block



12

Fig. 4 — Motormaster Power Wiring —30RAP 070-115 Units (cont)

YEL

BLK

BLU

BLK

YEL

BLU

BLK

YEL

BLU

HIGH SCCR 
ONLY

11

12

13

21

22

23

FB9

BLK

YEL

BLU

11

12

13

21

22

23

FB11
BLK

YEL

BLU

11

12

13

21

22

23

FB10

12

MMTB-A

22

2111

13 23

YEL

BLK

BLU

BL
K

YE
L

TO COOLER / PUMP/ 
CRANKCASE HEATERS

12

MMTB-B

22

2111

13 23

YEL

BLK

BLU

YEL

BLK

BLU

11

12

13

21

22

23

FB2

OFM1

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

OFM5 (070-090)
OFM7 (100-115)

BL
KYE

LBL
U

TO OFM3 and OFM2 

BLK
YEL

TO COOLER / PUMP/ 
CRANKCASE HEATERS

(STANDARD SCCR ONLY)

HIGH SCCR 
ONLY

MM-A
L1

L2

L3

T1

T2

T3

+24

DI1

AI1

DI1

+24

T3L3

L2

L1 T1

T2

AI1

AI1COM

FRA

11 14VIO

YEL

RED

BLK
FROM 
AUX-J4

MM-B
L1

L2

L3

T1

T2

T3

+24

DI1

AI1

DI1

+24

T3L3

L2

L1 T1

T2

AI1

AI1COM

FRB

11 14VIO

YEL

RED

BLK
FROM 
AUX-J5

After Motormaster Power Wiring

See Note.

See Note.

NOTE: The wire harness has a plug which connects to the AUX board. See control schematics 
(Fig. 14) that show the wire connections to the AUX board. 

LEGEND

AUX — Auxiliary Board

FB — Fuse Block

FC — Fan Contactor

FR — Fan Relay

MM — Motormaster

MMR — Motormaster Relay

MMTB — Motormaster Terminal Block

OFM — Outdoor Fan Motor

PT — Pressure Transducer

SCCR — Short Circuit Current Rating

TB — Terminal Block



13

Fig. 5 — Motormaster Power Wiring —30RAP 130-150 Units

Before Motormaster Power Wiring

BLK

YEL

BLU

BLK

YEL

BLU

11

12

13

21

22

23

FB9

HIGH SCCR 
ONLY

11

12

13

21

22

23

FB11

YEL

BLK

BLU

TO COOLER / PUMP/ 
CRANKCASE HEATERS

(HIGH SCCR ONLY)

YEL

BLK

BLU

OFM9

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

11

12

13

21

22

23

FC1

11

12

13

21

22

23

FC2

BLK

YEL

BLU

YEL

BLK

11

12

13

21

22

23

FB2

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

OFM1

BL
K

YE
L

BL
U

TO OFM7 and OFM3

BL
K

YE
L

BL
U

TO OFM2 and OFM4

BLK

YEL

BLU

11

12

13

21

22

23

FB1

BLK
YEL

TO TRAN 3
230V, 380V 

ONLY

BLK

YEL

BLU

LEGEND

AUX — Auxiliary Board

FB — Fuse Block

FC — Fan Contactor

FR — Fan Relay

MM — Motormaster

MMR — Motormaster Relay

MMTB — Motormaster Terminal Block

OFM — Outdoor Fan Motor

PT — Pressure Transducer

SCCR — Short Circuit Current Rating

TB — Terminal Block



14

Fig. 5 — Motormaster Power Wiring —30RAP 130-150 Units (cont)

YEL

BLK

BLU

BLK

YEL

BLU

BLK

YEL

BLU

HIGH SCCR 
ONLY

11

12

13

21

22

23

FB9

BLK

YEL

BLU

11

12

13

21

22

23

FB11

After Motormaster Power Wiring

11

12

13

21

22

23

FB10

12

MMTB-A

22

2111

13 23

YEL

BLK

BLU

BL
K

YE
L

TO COOLER / PUMP/ 
CRANKCASE HEATERS
(HIGH SCCR ONLY)

12

MMTB-B

22

2111

13 23

YEL

BLK

BLU

11

12

13

21

22

23

FB1

OFM1

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

BL
K

YE
L

BL
U

TO OFM2 and OFM4

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

OFM9

YEL

BLK

BLU

11

12

13

21

22

23

FB2

BL
K

YE
L

BL
U

TO OFM7 and OFM3

BLK
YEL

TO TRAN 3
230V, 380V 

ONLY

MM-A
L1

L2

L3

T1

T2

T3

+24

DI1

AI1

DI1

+24

T3L3

L2

L1 T1

T2

AI1

AI1COM

FRA

11 14VIO

YEL

RED

BLK
FROM 
AUX-J4

MM-B
L1

L2

L3

T1

T2

T3

+24

DI1

AI1

DI1

+24

T3L3

L2

L1 T1

T2

AI1

AI1COM

FRB

11 14VIO

YEL

RED

BLK
FROM 
AUX-J5

BLK

YEL

BLU

BLK

YEL

BLU

BLK

YEL

BLU

See Note.

See Note.

NOTE: The wire harness has a plug which connects to the AUX board. See control schematics 
(Fig. 14) that show the wire connections to the AUX board. 

LEGEND

AUX — Auxiliary Board

FB — Fuse Block

FC — Fan Contactor

FR — Fan Relay

MM — Motormaster

MMR — Motormaster Relay

MMTB — Motormaster Terminal Block

OFM — Outdoor Fan Motor

PT — Pressure Transducer

SCCR — Short Circuit Current Rating

TB — Terminal Block



15

Fig. 6 — Motormaster Power Wiring — 38APD/APS 025-030 Units

BLK

YEL

BLU

BLK

YEL

BLU

BLK

YEL

BLU

BL
K

YE
L

BL
U

TO OFM2

OFM1

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

BLK
YEL

TO 
CRANKCASE 

HEATERS 
(STANDARD 
SCCR ONLY)

11

12

13

21

22

23

FB1
11

12

13

21

22

23

FC1
11

12

13

21

22

23

FB2

HIGH SCCR 
ONLY

BLK
YEL

TO CRANKCASE HEATERS
(HIGH SCCR ONLY)YEL WIRE FOR 

208, 230, 460 
and 575 VOLT ONLY. 
See Note.

Before Motormaster Power Wiring

LEGEND

AUX — Auxiliary Board

FB — Fuse Block

FC — Fan Contactor

FR — Fan Relay

MM — Motormaster

MMR — Motormaster Relay

MMTB — Motormaster Terminal Block

OFM — Outdoor Fan Motor

PT — Pressure Transducer

SCCR — Short Circuit Current Rating

TB — Terminal Block
NOTE: For 380/400v units, the YEL CCH wire will connect to WHT neutral wire instead of terminal 22 on fuse 
blocks. See unit power schematic label for details.



16

Fig. 6 — Motormaster Power Wiring — 38APD/APS 025-030 Units (cont)

BLK

YEL

BLU

BLK

YEL

BLU

BLK

YEL

BLU

BLK
YEL

TO 
CRANKCASE 

HEATERS 
(STANDARD 
SCCR ONLY)

11

12

13

21

22

23

FB1
11

12

13

21

22

23

FB2

12

MMTB-A

22

2111

13 23

YEL

BLK

BLU

OFM1

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

MM-A
L1

L2

L3

T1

T2

T3

+24

DI1

AI1

DI1

+24

T3L3

L2

L1 T1

T2

AI1

AI1COM

FRA

11 14VIO

YEL

RED

BLK
FROM 
AUX-J4

BL
K

YE
L

BL
U

TO OFM2

BLK
YEL

TO CRANKCASE HEATERS
(HIGH SCCR ONLY )YEL WIRE FOR 

208, 230, 460 
and 575 VOLT ONLY. 
See Note 2.

After Motormaster Power Wiring

See Note 1.

NOTE: 
1. The wire harness has a plug which connects to the AUX board. See control schematics (Fig. 13) that 

show the wire connections to the AUX board. 
2. For 380/400v units, the YEL CCH wire will connect to WHT neutral wire instead of terminal 22 on fuse 

blocks. See unit power schematic label for details.

LEGEND

AUX — Auxiliary Board

FB — Fuse Block

FC — Fan Contactor

FR — Fan Relay

MM — Motormaster

MMR — Motormaster Relay

MMTB — Motormaster Terminal Block

OFM — Outdoor Fan Motor

PT — Pressure Transducer

SCCR — Short Circuit Current Rating

TB — Terminal Block



17

Fig. 7 — Motormaster Power Wiring — 38APS 040-050 and 38APD 040-060 Units

Before Motormaster Power Wiring

BLK

YEL

BLU

11

12

13

21

22

23

FB1

HIGH SCCR 
ONLY

11

12

13

21

22

23

FB3

TO CRANKCASE HEATERS
(HIGH SCCR ONLY)

BLK

YEL

BLU

YEL

BLK

BLK

YEL

BLU

BL
K

YE
L

BL
U

TO OFM1 and OFM2
OFM4 (060 ONLY)

BLK

YEL

BLU

OFM3

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

11

12

13

21

22

23

FB2
11

12

13

21

22

23

FC1

BLK

YEL

BLU

YEL WIRE FOR 
208, 230, 460 
and 575 VOLT ONLY
See Note.

BLK
YEL

TO 
CRANKCASE 

HEATERS 
(STANDARD 
SCCR ONLY)

YEL WIRE FOR 
208, 230, 460 
and 575 VOLT ONLY 
See Note.

LEGEND

AUX — Auxiliary Board

FB — Fuse Block

FC — Fan Contactor

FR — Fan Relay

MM — Motormaster

MMR — Motormaster Relay

MMTB — Motormaster Terminal Block

OFM — Outdoor Fan Motor

PT — Pressure Transducer

SCCR — Short Circuit Current Rating

TB — Terminal Block

NOTE: For 380/400v units, YEL CCH wire will connect to WHT neutral wire instead of terminal 22 on fuse blocks. See 
unit power schematic label for details.



18

Fig. 7 — Motormaster Power Wiring — 38APS 040-050 and 38APD 040-060 Units (cont)

BLK

YEL

BLU

11

12

13

21

22

23

FB1

BLK
YEL

TO CRANKCASE HEATERS
(HIGH SCCR ONLY) 

BLK

YEL

BLU

BL
K

YE
L

BL
U

TO OFM1 and OFM2
OFM4 (060 ONLY)

12

MMTB-A

22

2111

13 23

YEL

BLK

YEL

BLU

BLK

BLU

OFM3

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

BLK
YEL

TO 
CRANKCASE 

HEATERS 
(STANDARD 
SCCR ONLY)

MM-A
L1

L2

L3

T1

T2

T3

+24

DI1

AI1

DI1

+24

T3L3

L2

L1 T1

T2

AI1

AI1COM

FRA

11 14VIO

YEL

RED

BLK
FROM 
AUX-J4

11

12

13

21

22

23

FB3
BLK

YEL

BLU

11

12

13

21

22

23

FB2

HIGH SCCR 
ONLY

YEL WIRE FOR 
208, 230, 460 
and 575 VOLT ONLY 
See Note 2.

After Motormaster Power Wiring

See Note 1.

LEGEND

AUX — Auxiliary Board

FB — Fuse Block

FC — Fan Contactor

FR — Fan Relay

MM — Motormaster

MMR — Motormaster Relay

MMTB — Motormaster Terminal Block

OFM — Outdoor Fan Motor

PT — Pressure Transducer

SCCR — Short Circuit Current Rating

TB — Terminal Block

NOTE: 
1. The wire harness has a plug which connects to the AUX board. See control schematics (Fig. 13) that 

show the wire connections to the AUX board. 
2. For 380/400v units, YEL CCH wire will connect to WHT neutral wire instead of terminal 22 on fuse 

blocks. See unit power schematic label for details.



19

Fig. 8 — Motormaster Power Wiring — 38APS 065 Units

BLK

YEL

BLU

11

12

13

21

22

23

FB9

HIGH SCCR 
ONLY

11

12

13

21

22

23

FB10

TO COOLER / PUMP/ 
CRANKCASE HEATERS

(HIGH SCCR ONLY)

BLK

YEL

BLU

YEL

BLK

BLK

YEL

BLU

BL
K

YE
L

BL
U

TO OFM2 – OFM4

BLK

YEL

BLU

OFM1

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

11

12

13

21

22

23

FB1
11

12

13

21

22

23

FC1

BLK

YEL

BLU

YEL WIRE FOR 
208, 230, 460 
and 575 VOLT ONLY 
See Note.

BLK
YEL

TO 
CRANKCASE 

HEATERS 
(STANDARD 
SCCR ONLY)

YEL WIRE FOR 
208, 230, 460 
and 575 VOLT ONLY 
See Note.

Before Motormaster Power Wiring

NOTE: For 380/400v units, YEL CCH wire will connect to WHT neutral wire instead of terminal 22 on fuse blocks. See 
unit power schematic label for details.

LEGEND

AUX — Auxiliary Board

FB — Fuse Block

FC — Fan Contactor

FR — Fan Relay

MM — Motormaster

MMR — Motormaster Relay

MMTB — Motormaster Terminal Block

OFM — Outdoor Fan Motor

PT — Pressure Transducer

SCCR — Short Circuit Current Rating

TB — Terminal Block



20

Fig. 8 — Motormaster Power Wiring — 38APS 065 Units (cont)

BLK

YEL

BLU

11

12

13

21

22

23

FB9

BLK
YEL

TO CRANKCASE HEATERS
(HIGH SCCR ONLY) 

BLK

YEL

BLU

After Motormaster Power Wiring

BL
K

YE
L

BL
U

TO OFM1 – OFM4

12

MMTB-A

22

2111

13 23

YEL

BLK

YEL

BLU

BLK

BLU

OFM1

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

BLK
YEL

TO 
CRANKCASE 

HEATERS 
(STANDARD 
SCCR ONLY)

MM-A
L1

L2

L3

T1

T2

T3

+24

DI1

AI1

DI1

+24

T3L3

L2

L1 T1

T2

AI1

AI1COM

FRA

11 14VIO

YEL

RED

BLK
FROM 
AUX-J5

11

12

13

21

22

23

FB10
BLK

YEL

BLU

11

12

13

21

22

23

FB1

HIGH SCCR 
ONLY

YEL WIRE FOR 
208, 230, 460 
and 575 VOLT ONLY 
See Note 2.

See Note 1.

LEGEND

AUX — Auxiliary Board

FB — Fuse Block

FC — Fan Contactor

FR — Fan Relay

MM — Motormaster

MMR — Motormaster Relay

MMTB — Motormaster Terminal Block

OFM — Outdoor Fan Motor

PT — Pressure Transducer

SCCR — Short Circuit Current Rating

TB — Terminal Block

NOTE: 
1. The wire harness has a plug which connects to the AUX board. See control schematics (Fig. 13) that 

show the wire connections to the AUX board. 
2. For 380/400v units, YEL CCH wire will connect to WHT neutral wire instead of terminal 22 on fuse 

blocks. See unit power schematic label for details.



21

Fig. 9 — Motormaster Power Wiring — 38APD 070-100 Units

Before Motormaster Power Wiring

BLK

YEL

BLU

BL
KYE

LBL
U

BLK

YEL

BLU

11

12

13

21

22

23

FB9

HIGH SCCR 
ONLY

11

12

13

21

22

23

FB11

YEL

BLK

BLU

TO CRANKCASE HEATERS
(HIGH SCCR ONLY)

YEL

BLK

BLU

OFM1

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

11

12

13

21

22

23

FC1

11

12

13

21

22

23

FC2

BLK

YEL

BLU

YEL

BLK

11

12

13

21

22

23

FB2

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

OFM5 (070-090)
OFM7 (100-115)

BLK
YEL

TO CRANKCASE HEATERS
(STANDARD SCCR ONLY)

BLK

YEL

BLU

YEL WIRE FOR 
208, 230, 460 
and 575 VOLT ONLY 
See Note.

YEL

BLK

BLU

OFM2 (070)
OFM3 (080-100)

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

11

12

13

21

22

23

FC4

TO OFM4 (070, 090, 100)
OFM2 (080-100)
OFM6 (080-100)

BL
K

YE
L

TO TRAN 1

YEL WIRE FOR 
208, 230, 460 
and 575 VOLT ONLY 
See Note.

LEGEND

AUX — Auxiliary Board

FB — Fuse Block

FC — Fan Contactor

FR — Fan Relay

MM — Motormaster

MMR — Motormaster Relay

MMTB — Motormaster Terminal Block

OFM — Outdoor Fan Motor

PT — Pressure Transducer

SCCR — Short Circuit Current Rating

TB — Terminal Block

NOTE: For 380/400v units, YEL CCH wire 
will connect to WHT neutral wire instead 
of terminal 22 on fuse blocks. See unit 
power schematic label for details.



22

Fig. 9 — Motormaster Power Wiring — 38APD 070-100 Units (cont)

YEL WIRE FOR 208, 230, 
460 and 575 VOLT ONLY

YEL

BLK

BLU

BLK

YEL

BLU

BLK

YEL

BLU

HIGH SCCR 
ONLY

11

12

13

21

22

23

FB9

BLK

YEL

BLU

11

12

13

21

22

23

FB11
BLK

YEL

BLU

After Motormaster Power Wiring

11

12

13

21

22

23

FB10

12

MMTB-A

22

2111

13 23

YEL

BLK

BLU

BL
K

YE
L

CRANKCASE HEATERS

12

MMTB-B

22

2111

13 23

YEL

BLK

BLU

YEL

BLK

BLU

11

12

13

21

22

23

FB2

OFM1 (070, 080,100)
OFM3 (080)

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

OFM3 (070)
OFM5 (080-100)

BL
KYE

LBL
U

TO OFM4 (070, 090, 100)
OFM2 (070-100)

OFM1 (080)
OFM3 (090-100)
OFM6 (080-100)

BLK
YEL

CRANKCASE HEATERS
(STANDARD SCCR ONLY)

HIGH SCCR ONLY

MM-A
L1

L2

L3

T1

T2

T3

+24

DI1

AI1

DI1

+24

T3L3

L2

L1 T1

T2

AI1

AI1COM

FRA

11 14VIO

YEL

RED

BLK
FROM 
AUX-J4

MM-B
L1

L2

L3

T1

T2

T3

+24

DI1

AI1

DI1

+24

T3L3

L2

L1 T1

T2

AI1

AI1COM

FRB

11 14VIO

YEL

RED

BLK
FROM 
AUX-J5YEL WIRE FOR 

208, 230, 460 
and 575 VOLT ONLY 
See Note 2.

See Note 1.

See Note 1.

See Note 2.

LEGEND

AUX — Auxiliary Board

FB — Fuse Block

FC — Fan Contactor

FR — Fan Relay

MM — Motormaster

MMR — Motormaster Relay

MMTB — Motormaster Terminal Block

OFM — Outdoor Fan Motor

PT — Pressure Transducer

SCCR — Short Circuit Current Rating

TB — Terminal Block
NOTE: 

1. The wire harness has a plug which connects to the AUX board. See control schematics (Fig. 14) that 
show the wire connections to the AUX board. 

2. For 380/400v units, YEL CCH wire will connect to WHT neutral wire instead of terminal 22 on fuse 
blocks. See unit power schematic label for details.



23

Fig. 10 — Motormaster Power Wiring — 38APD 115-130 Units

Before Motormaster Power Wiring

BLK

YEL

BLU

BLK

YEL

BLU

11

12

13

21

22

23

FB9

HIGH SCCR 
ONLY

11

12

13

21

22

23

FB11

YEL

BLK

BLU

TO CRANKCASE HEATERS
(HIGH SCCR ONLY)

YEL

BLK

BLU

OFM1

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

11

12

13

21

22

23

FC5

11

12

13

21

22

23

FC2

BLK

YEL

BLU

YEL

BLK

11

12

13

21

22

23

FB2

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

OFM7

BLK
YEL

TO CRANKCASE HEATERS
(STANDARD SCCR ONLY)

BLK

YEL

BLU

YEL WIRE FOR 
208, 230, 460 
and 575 VOLT ONLY 
See Note.

YEL WIRE FOR 
208, 230, 460 
and 575 VOLT ONLY 
See Note.

BL
KYE

LBL
U

TO OFM3 and OFM4 

LEGEND

AUX — Auxiliary Board

FB — Fuse Block

FC — Fan Contactor

FR — Fan Relay

MM — Motormaster

MMR — Motormaster Relay

MMTB — Motormaster Terminal Block

OFM — Outdoor Fan Motor

PT — Pressure Transducer

SCCR — Short Circuit Current Rating

TB — Terminal Block

NOTE: For 380/400v units, YEL CCH wire will connect to WHT neutral wire instead 
of terminal 22 on fuse blocks. See unit power schematic label for details.



24

Fig. 10 — Motormaster Power Wiring — 38APD 115-130 Units (cont)

YEL WIRE FOR 208, 230, 
460 and 575 VOLT ONLY

YEL

BLK

BLU

BLK

YEL

BLU

BLK

YEL

BLU

HIGH SCCR 
ONLY

11

12

13

21

22

23

FB9

BLK

YEL

BLU

11

12

13

21

22

23

FB11
BLK

YEL

BLU

After Motormaster Power Wiring

11

12

13

21

22

23

FB10

12

MMTB-A

22

2111

13 23

YEL

BLK

BLU

BL
K

YE
L

CRANKCASE HEATERS

12

MMTB-B

22

2111

13 23

YEL

BLK

BLU

YEL

BLK

BLU

11

12

13

21

22

23

FB1

OFM1

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

OFM7
BL

KYE
LBL

U

TO OFM3 and OFM8

BLK
YEL

CRANKCASE HEATERS
(STANDARD SCCR ONLY)

HIGH SCCR ONLY

MM-A
L1

L2

L3

T1

T2

T3

+24

DI1

AI1

DI1

+24

T3L3

L2

L1 T1

T2

AI1

AI1COM

FRA

11 14VIO

YEL

RED

BLK
FROM 
AUX-J4

MM-B
L1

L2

L3

T1

T2

T3

+24

DI1

AI1

DI1

+24

T3L3

L2

L1 T1

T2

AI1

AI1COM

FRB

11 14VIO

YEL

RED

BLK
FROM 
AUX-J5YEL WIRE FOR 

208, 230, 460 
and 575 VOLT ONLY 
See Note 2.

See Note 1.

See Note 1.

See Note 2.

NOTE: 
1. The wire harness has a plug which connects to the AUX board. See control schematics (Fig. 14) that 

show the wire connections to the AUX board. 
2. For 380/400v units, YEL CCH wire will connect to WHT neutral wire instead of terminal 22 on fuse 

blocks. See unit power schematic label for details.

LEGEND

AUX — Auxiliary Board

FB — Fuse Block

FC — Fan Contactor

FR — Fan Relay

MM — Motormaster

MMR — Motormaster Relay

MMTB — Motormaster Terminal Block

OFM — Outdoor Fan Motor

PT — Pressure Transducer

SCCR — Short Circuit Current Rating

TB — Terminal Block



25

Fig. 11 —  Motormaster Power Wiring — 09DPS 018-030 and 09DPM 035-060 Units

OFM3 (035-060)
OFM1 (018-030)

12

TB1-A
11

13

BLK

YEL

BLU BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

11

12

13

21

22

23

FC1

22

21

23

BL
K

YE
L

BL
U

TO OFM1
OFM2 (018-030, 040-060 ONLY)

OFM4 (050-060 ONLY)

BLK
YEL

TO TRAN 1

Before Motormaster Power Wiring

LEGEND

AUX — Auxiliary Board

FB — Fuse Block

FC — Fan Contactor

FR — Fan Relay

MM — Motormaster

MMR — Motormaster Relay

MMTB — Motormaster Terminal Block

OFM — Outdoor Fan Motor

PT — Pressure Transducer

SCCR — Short Circuit Current Rating

TB — Terminal Block



26

Fig. 11 — Motormaster Power Wiring — 09DPS 018-030 and 09DPM 035-060 Units (cont)

MMPT-A

PNKHIGH SCCR 
ONLY

12

TB1-A
11

13

12

MMTB-A

22

2111

13 23

YEL

BLK

YEL

BLU

BLK

YEL

BLU

BLK

BLU

BLK

YEL

BLU

OFM3 (035-060)
OFM1 (018-030)

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

MM-A
L1

L2

L3

T1

T2

T3

DI1

+24

T3L3

L2

L1 T1

T2

10V

AI1AI2

FRA

11 14VIO

YEL

RED

BLKAI1COM

GRN

B

C

A

DI2
R-410A applica�ons connect jumper to DI3.

11

12

13

21

22

23

FB2

22

21

23

BL
K

YE
L

BL
U

11

12

13

21

22

23

FB1

TO OFM1
OFM2 (018-030, 040-060 ONLY)

OFM4 (050-060 ONLY)

BLK
YEL

TO TRAN 1

After Motormaster Power Wiring

DI3

DI2T2DI2 R-22 applica�ons connect jumper to DI2.
R-134A applica�on is default.  No jumper required.

PNK

LEGEND

AUX — Auxiliary Board

FB — Fuse Block

FC — Fan Contactor

FR — Fan Relay

MM — Motormaster

MMR — Motormaster Relay

MMTB — Motormaster Terminal Block

OFM — Outdoor Fan Motor

PT — Pressure Transducer

SCCR — Short Circuit Current Rating

TB — Terminal Block



27

Fig. 12 — Motormaster Power Wiring — 09DPM 065-130 Units

BLK

YEL

BLU

BLK

YEL

BLU

12

TB1-A
11

13

YEL OFM3 (075-130)

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

Before Motormaster Power Wiring

22

21

23

BL
K

YE
L

BL
U

OFM2 (085-095
OFM4 (065, 085-130)

OFM5 (075-130)
OFM6 (075-095)
OFM7 (115-130)
OFM8 (115-130)

OFM1

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

OFM7 (115-130)

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

OFM5
OFM3 (065)

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

BLK
YEL

TO TRAN 1

11

12

13

21

22

23

FC2

11

12

13

21

22

23

FC3 (075-095), FC6 (115-130)

11

12

13

21

22

23

FC1

11

12

13

21

22

23

FC4 (115-130)

BL
K

YE
L

BL
U

BL
K

YE
L

BL
U

TO
OFM3 (115-130)

OFM6 (130)

BLK

YEL

BLU

TO 
TB1-A (FC3 075-095)

FC5 (FC6 115-130)

LEGEND

AUX — Auxiliary Board

FB — Fuse Block

FC — Fan Contactor

FR — Fan Relay

MM — Motormaster

MMR — Motormaster Relay

MMTB — Motormaster Terminal Block

OFM — Outdoor Fan Motor

PT — Pressure Transducer

SCCR — Short Circuit Current Rating

TB — Terminal Block



28

Fig. 12 — Motormaster Power Wiring — 09DPM 065-130 Units (cont)

MMPT-A

PNKHIGH SCCR 
ONLY

12

TB1-A
11

12

MMTB-A
11

13

YEL

BLK

YEL

BLU

BLK

YEL

BLU

BLK

BLU

BLK

YEL

BLU

OFM3 (075-130)

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

After Motormaster Power Wiring

MM-A
L1

L2

L3

T1

T2

T3

DI1

+24

T3L3

L2

L1 T1

T2

10V

AI1AI2

FRA

11 14VIO

YEL

RED

BLKAI1COM

GRN

B

C

A

DI3

11

12

13

21

22

23

FB1

22

21

23

BL
K

YE
L

BL
U

11

12

13

21

22

23

FB3

TO OFM2
OFM4 (065, 085-130)

OFM5 (075-130)
OFM6 (075-095, 130)

OFM7 (115-130)
OFM8 (115-130)

OFM1

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

MMPT-B

PNK

12

MMTB-B
11

13

YEL

BLK

YEL

BLU

BLK

YEL

BLU

BLK

BLU

OFM7 (115-130)

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

MM-B
L1

L2

L3

T1

T2

T3

DI1

+24

T3L3

L2

L1 T1

T2

10V

AI1AI2

FRB

11 14VIO

YEL

RED

BLKAI1COM

GRN

B

C

A

DI3

11

12

13

21

22

23

FB2

BL
K

YE
L

BL
U

OFM5
OFM3 (065)

BLK-3

BLK-2

BLK-1

GRN/YEL

2

1

3

22

21

23

22

21

23

BLK
YEL

TO TRAN 1

13

PNKDI2

R -410A applica�ons connect jumper to DI3.
R-22 applica�ons connect jumper to DI2.
R-134A applica�on is default.  No jumper required.

PNKDI2

R-410A applica�ons connect jumper to DI3.
R-22 applica�ons connect jumper to DI2.
R-134A applica�on is default.  No jumper required.

LEGEND

AUX — Auxiliary Board

FB — Fuse Block

FC — Fan Contactor

FR — Fan Relay

MM — Motormaster

MMR — Motormaster Relay

MMTB — Motormaster Terminal Block

OFM — Outdoor Fan Motor

PT — Pressure Transducer

SCCR — Short Circuit Current Rating

TB — Terminal Block



29

Fig. 13 — Typical Motormaster Control Wiring — 30RAP 010-060 and 38APD/APS 025-065 Units

-B (38APS 065 ONLY)

LEGEND

AUX — Auxiliary Board

CH — Crankcase Heater

CSB — Current Sensing Board

CXB — Compressor Expansion Board

DGS — Digital Scroll

DLS — Demand Limit Switch

DTT — Discharge Temperature Thermistor

DUS — Digital Unloader Solenoid

EMM — Energy Management Module

EXV — Expansion Valve Control Board

FC — Fan Contactor

FIOP — Factory-installed Option

LVT — Low Voltage Terminal

MBB — Main Base Board

MLV — Minimum Load Valve

MM — Motormaster

MMR — MotorMaster Relay

PL — Plug



30

Fig. 14 — Typical Motormaster Control Wiring — 30RAP 070-150 and 38APD 070-130 Units

Fig. 15 — Auxiliary Board Power Wiring — 30RAP and 38AP Units

LEGEND

AUX — Auxiliary Board

CH — Crankcase Heater

CSB — Current Sensing Board

CXB — Compressor Expansion Board

DGS — Digital Scroll

DLS — Demand Limit Switch

DTT — Discharge Temperature Thermistor

DUS — Digital Unloader Solenoid

EMM — Energy Management Module

EXV — Expansion Valve Control Board

FC — Fan Contactor

FIOP — Factory-installed Option

LVT — Low Voltage Terminal

MBB — Main Base Board

MLV — Minimum Load Valve

MM — Motormaster

MMR — MotorMaster Relay

PL — Plug

3

2

1

3

2

1

J1

J2

CXB EMMMBB

Motormaster
Accessory 
Auxiliary Board

FIOP/Accessory30RAP 070-150 and
38AP 070-130 Only

2

1

J1
3

2

1

3

2

1

J1

J2

3

2

1
J2

2

1

3

2

1

3

2

1

3

2

1

2

1

2

1



31

Fig. 16 — Typical Motormaster Relay Wiring — 30RAP and 38AP

Fig. 17 — Motormaster Control Wiring — 09DPS 018-030 and 09DP 035-060

TO FR (MMR) Coil
On DIN Rail

FC Removed,
Replace With MMR

LEGEND

FC — Fan Contactor

FR — Fan Relay

MMR — Motormaster Relay

NOTE: For units with low ambiant Motormaster® FIOP/accessory, fan contactor FC1 is replaced with fan relay FR1.



32

Fig. 18 — Motormaster Control Wiring — 09DPM 065-095

Fig. 19 — Motormaster Control Wiring — 09DPM 0115-130

1. For units with low ambient Motormaster FIOP/accessory fan contactors, FC1 and FC2 are replaced with fan relay FRA and FRB. 
2. For 075 (single circuit only) units with low ambient Motormaster FIOP/accessory, fan contactor FC3 and fan cycling pressure switch FPCS1 are not required.

1

2

1

NOTE:

2

1. For units with low ambient Motormaster FIOP/accessory, fan contactors FC1 and FC2 are replaced with fan relay FRA and FRB. 
2. For units with low ambient Motormaster FIOP/accessory, fan contactor FC4 and fan cycling pressure switch FPCS2 are not required.

NOTE:

2

1

1

2



33

INSTALLATION

Step 1 — Install Wind Baffles
Accessory wind baffles must be field-installed for all units to 
ensure proper operation at low-ambient temperatures with 
Motormaster® electronic controller. Refer to Table 4 for wind 
baffle usage.

Step 2 — Install Accessory
See Fig. 20-41 and corresponding unit section for detailed 
information.

30RAP AND 38AP UNIT INSTALLATION

Refer to Table 1 for accessory usage. Refer to “Accessory Package 
Contents” on page 57 for corresponding item numbers. Lock out 
and tag out all power connections. For auxiliary board installation 
locations, see Fig. 20-25.
NOTE: These installation instructions are written for standard 
SCCR (short circuit current rating) units unless otherwise noted. 
High SCCR units can be identified by the 13th position (Ambient/
Capacity Control/Interrupt Option) in the model number as high 
interrupt. These are 38AP unit options 3, 5, 9, and C and 30RAP 
unit options 3, 4, 5, 9, B, C, H, J, K, P, Q, and R.
30RAP 010 and 015 units
Enclosure assembly and mounting:
1. The Motormaster enclosure assembly comes with 

Motormaster controller(s) (Item 100), power-in harness 
(Item 200), power-out harness (Item 202), and control har-
ness (Item 204) pre-installed in the Motormaster enclosure 
(Item 718).

2. Attach Motormaster (MM) mounting brackets (Item 723) to 
the unit corner post using eight AA06BS170 bolts (Item 724), 
sixteen AU02AB171 washers (Item 725), and eight 
AT30AB171 nuts (Item 726) provided. See Fig. 30.

3. Cut three 1-3/8 in. diameter holes in the corner post at the 
locations shown in Fig. 29. Insert the 3 plastic bushings 
(Item 728) into holes.

4. Remove the straight connectors from the ends of the conduit 
leaving the MM enclosure. Route the conduit through the 
holes in the corner post. See Fig. 28.

5. Mount the MM enclosure assembly to the MM mounting 
brackets (Item 723) using four AA06BS170 bolts (Item 724), 
eight AU02AB171 washers (Item 725), and four 
AT30AB171 nuts (Item 726) provided. See Fig. 26.

6. Cut three 1/2 in. diameter holes in the bottom of the control 
box below the location of the fan contactors.

7. Reassemble the straight conduit connectors and route the 
conduit to the new holes cut in the bottom of the control box. 
NOTE: For Motormaster enclosure cover assembly see 
Fig. 41.

Control box modifications:
8. Remove components.

 a. Disconnect wires connected to fan contactor 1 (FC1). 
Remove the wires from the line side of contactor 
completely from the control box.

 b. Remove FC1.
9. Install components.

 a. Mount Motormaster terminal block A (MMTB-A) 
(Item 600) using two AL80AU170 screws (Item 701) 
while applying pressure (lug side down) in the location 
where FC1 was mounted.

 b. Mount Motormaster Relay (MMR) assembly (Items 500 
and 501) on DIN rail next to FB1.

 c. Install end stop (Item 706) at each end of DIN rail.
 d. If the unit came with an auxiliary board installed, skip to 

Step 10. Otherwise, install auxiliary board (Item 715) 
using four AC41AB100 screws (Item 731) provided. 
See Fig. 20. Set DIP switch 2, 5 and 7 = ON.

10. Make power connections. Refer to Fig. 1.

 a. Connect OFM1 BLK wires labeled 1, 2, 3 to 
Motormaster terminal block A (MMTB-A) (Item 600) 
terminals 21, 22, 23. Remove wire terminals as required.

 b. Connect MM power-out harness (Item 202) BLK, YEL, 
BLU wires labeled MM-A-T1, MM-A-T2, MM-A-T3 to 
MMTB-A terminals 11, 12, 13 respectively. 

 c. Connect MM power-in harness (Item 200) BLK, YEL, 
BLU wires labeled MM-A-L1, MM-A-L2, MM-A-L3 to 
FB1 terminals 21, 22, 23 respectively.

 d. If the unit came with has an auxiliary board installed, 
skip to Step 11. Otherwise, install auxiliary power har-
ness (Item 717). Make power connection J1 on AUX to 
terminal J2 of energy management module (EMM) if the 
unit has an EMM or to terminal J2 of main base board 
(MMB). Refer to Fig. 15.

11. Make communications connections. Refer to Fig. 13.

 a. If the unit came with an auxiliary board installed, skip to 
Step 11b. Otherwise, install auxiliary communications 
harness (Item 716). Make communication connection J9 
on AUX to terminal J3 of energy management module 
(EMM) if the unit has an EMM or to terminal J4 of elec-
tronic expansion valve (EXV).

 b. Install auxiliary harness (Item 212). Plug terminal board 
connector labeled AUX J4 to AUX Board J4. 

 c. Connect MM control harness (Item 204). Connect RED 
and BLK wires to auxiliary harness (Item 212) AUX1 
J4-1 and J4-2. Connect VIO and YEL wires to terminals 
11 and 14 of relay socket (Item 501) respectively. 

 d. Install MMR harness (Item 210). Connect PNK and 
BRN wires to relay socket (Item 501) terminals A1 and 
A2 respectively. Refer to Fig. 16. 
Make splice connection from BRN wire labeled OFC 
COM SPLICE to BRN wire labeled FC-1 COM which 
was removed from FC1 contactor. Make splice connec-
tion from PNK wire labeled OFC PWR SPLICE to PNK 
wire labeled FC-1 COIL which was removed from FC1 
contactor.

WARNING

Electrical shock can cause serious injury or death. Wait three 
minutes after disconnecting incoming power before servicing 
drive. Capacitors retain charge after power is removed.

CAUTION

DO NOT connect incoming AC power to the output terminal 
T1, T2, and T3. Severe damage to the drive will result. Do not 
continuously cycle input power to the drive more than once 
every two minutes. Damage to the drive will result.



34

30RAP 018-030 units
Enclosure assembly and mounting:
1. The Motormaster enclosure assembly comes with 

Motormaster controller(s) (Item 100), power-in harness 
(Item 200), power-out harness (Item 202), and control har-
ness (Item 204) pre-installed in the Motormaster enclosure 
(Item 718). 

2. Attach Motormaster (MM) mounting brackets (Item 723) to 
the unit corner post using eight AA06BS170 bolts (Item 724), 
sixteen AU02AB171 washers (Item 725), and eight 
AT30AB171 nuts (Item 726) provided. See Fig. 30.

3. Cut three 1-3/8 in. diameter holes in the corner post at the 
locations shown in Fig. 29. Insert the 3 plastic bushings 
(Item 728) into holes.

4. Remove the straight connectors from the ends of the conduit 
leaving the MM enclosure. Route the conduit through the 
holes in the corner post. See Fig. 28.

5. Mount the MM enclosure assembly to the MM mounting 
brackets (Item 723) using four AA06BS170 bolts (Item 724), 
eight AU02AB171 washers (Item 725), and eight 
AT30AB171 nuts (Item 726) provided. See Fig. 26.

6. Cut three 1/2 in. diameter holes in the bottom of the control 
box below the location of the fan contactors.

7. Reassemble the straight conduit connectors and route the 
conduit to the new holes cut in the bottom of the control box. 
NOTE: For Motormaster enclosure cover assembly see 
Fig. 41. 

Control box modifications:
8. Remove components.

 a. Disconnect wires connected to fan contactor 1 (FC1). 
Remove the wires from the line side of contactor 
completely from the control box. 

 b. Remove FC1.
9. Install components.

 a. Mount Motormaster terminal block A (MMTB-A) 
(Item 600) using two AL80AU170 screws (Item 701) 
with terminal 11, 12, 13 side down in location where 
FC1 was mounted. 

 b. Mount DIN rail (Item 714) at the top of the enclosure 
using two AL80AU170 screws (Item 701) provided. 

 c. Mount fuse block 2 (FB2) (Item 400) to DIN rail 
(Item 714) at the top of the enclosure. Install 3 fuses 
(Item 300) in fuse block.

 d. Mount Motormaster relay (MMR) assembly (Items 500 
and 501) on DIN rail (Item 714) next to FB1.

 e. Install end stop (Item 706) at each end of DIN rail 
(Item 714).

 f. If the unit came with an auxiliary board installed, skip to 
Step 10. Otherwise, install auxiliary board (Item 715) 
using four AC41AB100 screws (Item 731) provided. 
See Fig. 20. Set DIP switch 2, 5 and 7 = ON.

10. Make power connections. Refer to Fig. 2.

 a. Connect OFM1 BLK wires labeled 1, 2, 3 to 
Motormaster terminal block A (MMTB-A) (Item 600) 
terminals 21, 22, 23. Remove terminals as required.

 b. Connect MM power-out harness (Item 202) BLK, YEL, 
BLU wires labeled MM-A-T1, MM-A-T2, MM-A-T3 to 
MMTB-A terminals 11, 12, 13 respectively. 

 c. Connect MM power-in harness (Item 200) BLK, YEL, 
BLU wires labeled MM-A-L1, MM-A-L2, MM-A-L3 to 
FB2 terminals 21, 22, 23 respectively.

 d. Install fuse block jumper (Item 206) between FB1 termi-
nals 11, 12, and 13 and FB2 terminals 11, 12, and 13 
with BLK, YEL, BLU wires respectively.

 e. If the unit came with an auxiliary board installed, skip to 
Step 11. Otherwise, install auxiliary power harness 
(Item 717). Make power connection J1 on AUX to ter-
minal J2 of energy management module (EMM) if the 
unit has an EMM or to terminal J2 of main base board 
(MMB). Refer to Fig. 15.

11. Make communications connections. Refer to Fig. 13.

 a. If the unit came with an auxiliary board installed, skip to 
Step 11b. Otherwise, install auxiliary communication 
harness (Item 716). Make communication connection J9 
on AUX to terminal J3 of energy management module 
(EMM) if the unit has an EMM or to terminal J4 of elec-
tronic expansion valve (EXV).

 b. Install auxiliary harness (Item 212). Plug terminal board 
connector labeled AUX J4 to AUX Board J4. 

 c. Connect MM control harness (Item 204). Connect RED 
and BLK wires to auxiliary harness (Item 212). Connect 
VIO and YEL wires to terminals 11 and 14 of relay 
socket (Item 501) respectively.

 d. Install MMR harness (Item 210). Connect PNK and 
BRN wires to relay socket (Item 501) terminals A1 and 
A2 respectively. Refer to Fig. 16. 
Make splice connection from BRN wire labeled OFC 
COM SPLICE to BRN wire labeled FC-1 COM which 
was removed from FC1 contactor. Make splice connec-
tion from PNK wire labeled OFC PWR SPLICE to PNK 
wire labeled FC-1 COIL which was removed from FC1 
contactor.

30RAP 035-050 units
Enclosure assembly and mounting:
1. The Motormaster enclosure assembly comes with 

Motormaster controller(s) (Item 100), power-in harness 
(Item 200), power-out harness (Item 202), and control har-
ness (Item 204) pre-installed in the Motormaster enclosure 
(Item 718).

2. Attach MM mounting brackets (Item 723) to the MM enclo-
sure (Item 718) using four AA06BS170 bolts (Item 724), 
eight AU02AB171 washers (Item 725), and four 
AT30AB171 nuts (Item 726) provided. See Fig. 26.

3. Remove access panel from unit and cut three 1-3/8 in. diame-
ter holes in the access panel at the locations shown in Fig. 32. 
Insert the 3 plastic bushings (Item 728) into holes.

4. Remove the straight connectors from the ends of the conduit 
leaving the MM enclosure. Route the conduit through the 
holes in the access panel. See Fig. 31.

5. Mount the MM enclosure assembly to the access panel using 
eight AA06BS170 bolts (Item 724), sixteen AU02AB171 
washers (Item 725), and eight AT30AB171 nuts (Item 726) 
provided. Reinstall the access panel once the MM enclosure 
is securely mounted. See Fig. 33.

6. Cut three 1/2 in. diameter holes in the bottom of the control 
box below the location of the fan contactors.

7. Reassemble the straight conduit connectors and route the 
conduit to the new holes cut in the bottom of the control box. 
NOTE: For Motormaster enclosure cover assembly see 
Fig. 41.



35

Control box modifications:
8. Remove components.

 a. Disconnect wires connected to fan contactor 1 (FC1). 
Remove the wires from the line side of contactor com-
pletely from the control box.

 b. Remove FC1.
9. Install components.

 a. Mount Motormaster terminal block A (MMTB-A) 
(Item 600) using two AL80AU170 screws (Item 701) 
with terminal 11, 12, 13 side down in location where 
FC1 was mounted.

 b. Mount Motormaster relay (MMR) assembly (Items 500 
and 501) on DIN rail next to FB1 and FB2.

 c. Reinstall end stop at each end of DIN rail.
 d. If the unit came with an auxiliary board installed, skip to 

Step 10. Otherwise, install auxiliary board (Item 715) to 
auxiliary bracket (Item 712) using four AC41AB100 
screws (Item 731) provided. Mount auxiliary bracket 
with auxiliary board to control box using two 
AL80AU170 screws (Item 701). See Fig. 20. Set DIP 
switch 2, 5 and 7 = ON.

10. Make power connections. Refer to Fig. 3.

 a. Connect OFM3 BLK wires labeled 1, 2, 3 to 
Motormaster terminal block A (MMTB-A) (Item 600) 
terminals 21, 22, 23. Remove terminals as required.

 b. Connect MM power-out harness (Item 202) BLK, YEL, 
BLU wires labeled MM-A-T1, MM-A-T2, MMA-T3 to 
MMTB-A terminals 11, 12, 13 respectively.

 c. Connect MM power-in harness (Item 200) BLK, YEL, 
BLU wires labeled MM-A-L1, MM-A-L2, MM-A-L3 to 
FB1 terminals 21, 22, 23 respectively. 

 d. If the unit came with an auxiliary board installed, skip to 
Step 11. Otherwise, install auxiliary power harness 
(Item 717). 
Make power connection J1 on AUX to terminal J2 of 
energy management module (EMM) if the unit has an 
EMM or to terminal J2 of main base board (MMB).

11. Make communications connections. Refer to Fig. 13 and 16.

 a. If the unit came with an auxiliary board installed, skip to 
Step 11b. Otherwise, install auxiliary communications 
harness (Item 716). Make communication connection J9 
on AUX to terminal J3 of energy management module 
(EMM) if the unit has an EMM or to terminal J4 of elec-
tronic expansion valve (EXV).

 b. Install auxiliary harness (Item 212). Plug terminal board 
connector labeled AUX J4 to AUX Board J4. 

 c. Connect MM control harness (Item 204). Connect RED 
and BLK wires to auxiliary harness (Item 212). Connect 
VIO and YEL wires to terminals 11 and 14 of relay 
socket (Item 501) respectively.

 d. Install MMR harness (Item 210). Connect PNK and 
BRN wires to relay socket (Item 501) terminals A1 and 
A2 respectively. 
Make splice connection from BRN wire labeled OFC 
COM SPLICE to BRN wire labeled FC-1 COM which 
was removed from FC1 contactor. Make splice connec-
tion from PNK wire labeled OFC PWR SPLICE to PNK 
wire labeled FC-1 COIL which was removed from FC1 
contactor.

30RAP 055-060 units
Enclosure assembly and mounting:
1. The Motormaster enclosure assembly comes with 

Motormaster controller(s) (Item 100), power-in harness 
(Item 200), power-out harness (Item 202), and control 

harness (Item 204) pre-installed in the Motormaster enclosure 
(Item 718).

2. Attach MM mounting brackets (Item 723) to the MM enclo-
sure (Item 718) using four AA06BS170 bolts (Item 724), 
eight AU02AB171 washers (Item 725), and four 
AT30AB171 nuts (Item 726) provided. See Fig. 26.

3. Remove access panel from unit and cut three 1-3/8 in. diame-
ter holes in the access panel at the locations shown in Fig. 32. 
Insert the 3 plastic bushings (Item 728) into holes.

4. Remove the straight connectors from the ends of the conduit 
leaving the MM enclosure. Route the conduit through the 
holes in the access panel. See Fig. 31.

5. Mount the MM enclosure assembly to the access panel using 
eight AA06BS170 bolts (Item 724), sixteen AU02AB171 
washers (Item 725), and eight AT30AB171 nuts (Item 726) 
provided. Reinstall the access panel once the MM enclosure 
is securely mounted. See Fig. 33.

6. Cut three 1/2 in. diameter holes in the bottom of the control 
box below the location of the fan contactors.

7. Reassemble the straight conduit connectors and route the 
conduit to the new holes cut in the bottom of the control box. 
NOTE: For Motormaster enclosure cover assembly see 
Fig. 41.

Control box modifications:
8. Remove components.

 a. Disconnect wires connected to fan contactor 3 (FC3). 
Remove the wires from the line side of contactor 
completely.

 b. Remove FC3.
 c. Remove mounting hardware from FC2 and move FC2 to 

the FC3 position. Re-attach FC2 with the same 
hardware.

 d. Disconnect FC1 line-side wires from FB1 load-side 
terminals.

 e. Remove mounting hardware from FC1 and move FC1 to 
the old FC2 position. Re-attach FC1 with the same 
hardware.

9. Install components.

 a. Mount Motormaster terminal block A (MMTB-A) 
(Item 600) using two AL80AU170 screws (Item 701) 
with terminal 11, 12, 13 side down in location where 
FC1 was mounted.

 b. Mount Motormaster relay (MMR) assembly (Items 500 
and 501) on DIN rail next to FB1 and FB2.

 c. Reinstall end stop at each end of DIN rail.
 d. If the unit came with an auxiliary board installed, skip to 

Step 10. Otherwise, install auxiliary board (Item 715) to 
auxiliary bracket (Item 712) using four AC41AB100 
screws (Item 731) provided. Mount auxiliary bracket 
with auxiliary board to control box using two 
AL80AU170 screws (Item 701). See Fig. 20. Set DIP 
switch 2, 5 and 7 = ON.

10. Make power connections. Refer to Fig. 3.

 a. Connect OFM4 BLK wires labeled 1, 2, 3 to 
Motormaster terminal block A (MMTB-A) (Item 600) 
terminals 21, 22, 23. Remove terminals as required.

 b. Connect MM power-out harness (Item 202) BLK, YEL, 
BLU wires labeled MM-A-T1, MM-A-T2, MM-A-T3 to 
MMTB-A terminals 11, 12, 13 respectively. 

 c. Connect MM power-in harness (Item 200) BLK, YEL, 
BLU wires labeled MM-A-L1, MM-A-L2, MM-A-L3 to 
FB1 terminals 12, 22, 23 respectively.



36

 d. Connect FC1 line-side BLK, YEL, BLU wires to FB2 
load side terminals 12, 22, 23 respectively.

 e. If the unit came with an auxiliary board installed, skip to 
Step 11. Otherwise, install auxiliary power harness 
(Item 717). Make power connection J1 on AUX to ter-
minal J2 of energy management module (EMM) if the 
unit has an EMM or to terminal J2 of main base board 
(MMB). Refer to Fig. 15.

11. Make communications connections. Refer to Fig.13 and 16.

 a. If the unit came with an auxiliary board installed, skip to 
Step 11b. Otherwise, install auxiliary communications 
harness (Item 716). Make communication connection J9 
on AUX to terminal J3 of energy management module 
(EMM) if the unit has an EMM or to terminal J4 of elec-
tronic expansion valve (EXV).

 b. Install auxiliary harness (Item 212). Plug terminal board 
connector labeled AUX J4 to AUX board J4. 

 c. Connect MM control harness (Item 204). Connect RED 
and BLK wires to auxiliary harness (Item 212). Connect 
VIO and YEL wires to terminals 11 and 14 of relay 
socket (Item 501) respectively.

 d. Install MMR harness (Item 210). Connect PNK and 
BRN wires to relay socket (Item 501) terminals A1 and 
A2 respectively. 
Make splice connection from BRN wire labeled OFC 
COM SPLICE to BRN wire labeled FC-3 COM which 
was removed from FC3 contactor. Make splice connec-
tion from PNK wire labeled OFC PWR SPLICE to PNK 
wire labeled FC-3 COIL which was removed from FC3 
contactor.

30RAP 070-115 units
Enclosure assembly and mounting:
1. The Motormaster enclosure assembly comes with 

Motormaster controller(s) (Item 100), power-in harness 
(Item 200), power-out harness (Item 202), and control har-
ness (Item 204) pre-installed in the Motormaster enclosure 
(Item 718).

2. Attach MM mounting brackets (Item 722) to the MM enclo-
sure (Item 718) using four AA06BS170 bolts (Item 724), 
eight AU02AB171 washers (Item 725), and four 
AT30AB171 nuts (Item 726) provided. See Fig. 27.

3. Mount the MM enclosure assembly to base frame and coil 
support using five AA06BS170 bolts (Item 724), ten 
AU02AB171 washers (Item 725), and five AT30AB171 nuts 
(Item 726) provided. Drill holes as needed. See Fig. 34-37.

4. Cut three 1/2 in. diameter holes in the bottom of the control 
box below the location of the fan contactors.

5. Route the conduit to the new holes cut in the bottom of the 
control box. 
NOTE: For Motormaster enclosure cover assembly see 
Fig. 41.

Control box modifications:
6. Remove components.

 a. Disconnect wires connected to fan contactor 1 (FC1) and 
fan contactor 2 (FC2). Remove the wires from the line 
side of contactors completely from the control box.

 b. Remove FC1 and FC2.
7. Install components.

 a. Mount Motormaster terminal blocks A and B 
(MMTB-A and MMTB-B) (Item 600) using four 
AL80AU170 screws (Item 701) with terminal 11, 12, 13 
side down in location where FC1 and FC2 were 
mounted.

 b. Mount DIN rail (Item 707) below FB1 using two 
AL80AU170 screws (Item 701) provided.

 c. For Standard SCCR units mount fuse blocks 9 and 10 
(FB9 and FB10) (Item 400) to DIN rail (Item 707). 
Install 3 fuses (Item 300) in each fuse block.

 d. For High SCCR units, mount fuse block 10 (FB10) 
(Item 400) to DIN rail (Item 707). Install 3 fuses 
(Item 300) in fuse block.

 e. Mount fan relay A assembly (FRA) and fan relay B 
assembly (FRB) (Items 500 and 501) on DIN rail next to 
FB9 and FB10.

 f. Install end stop (Item 706) at each end of DIN rail 
(Item 707).

 g. If the unit came with an auxiliary board installed, skip to 
Step 8. Otherwise, install auxiliary board (Item 715) 
using four AC41AB100 screws (Item 731) provided. 
See Fig. 21. Set DIP switch 2, 5 and 7 = ON.

8. Make power connections. Refer to Fig. 4.

 a. Connect fan wires from fan motors to each terminal 
block (Item 600). Connect each set of OFM BLK wires 
labeled 1, 2, 3 to each Motormaster terminal block termi-
nals 21, 22, 23. Remove terminals as required. 
30RAP070-090: OFM5 to MMTB-A and 
OFM1 to MMTB-B. 
30RAP100-115: OFM7 to MMTB-A and OFM1 to 
MMTB-B.

 b. Connect MM power-out harness (Item 202). Connect 
BLK, YEL, BLU wires labeled MM-A-T1, MM-A-T2, 
MM-A-T3 to MMTB-A terminals 11, 12, 13 
respectively. Connect BLK, YEL, BLU wires labeled 
MM-B-T1, MM-B-T2, MM-B-T3 to MMTB-B termi-
nals 11, 12, 13 respectively.

 c. Connect MM power-in harness (Item 200). Connect 
BLK, YEL, BLU wires labeled MM-A-L1, MM-A-L2, 
MM-A-L3 to FB9 terminals 21, 22, 23 respectively. 
Connect BLK, YEL, BLU wires labeled MM-B-L1, 
MM-B-L2, MM-B-L3 to FB10 terminals 21, 22, 23 
respectively.

 d. For Standard SCCR units install FB/FR harness 
(Item 209) between FB2 terminals 21, 22, and 23 and 
FB9 terminals 11, 12, and 13 with BLK, YEL, BLU 
wires respectively.

 e. For High SCCR units, remove line side wires from 
FB11, and install FB/FR harness (Item 209) between 
FB2 terminals 21, 22, and 23 and FB11 terminals 11, 12, 
and 13 with BLK, YEL, BLU wires respectively.

 f. Connect fuse block jumper (Item 206) between FB9 ter-
minals 11, 12, and 13 and FB10 terminals 11, 12, and 13 
with BLK, YEL, BLU wires respectively.

 g. If the unit came with an auxiliary board installed, skip to 
Step 9. Otherwise, install auxiliary power harness 
(Item 717). Make power connection J1 on AUX to J2 of 
energy management module (EMM) if the unit has an 
EMM or to terminal J2 compressor expansion board 
(CXB).

9.  Make communications connections. Refer to Fig. 14 and 16.

 a. If the unit came with an auxiliary board installed, skip to 
Step 9b. Otherwise, install auxiliary communications 
harness (Item 716). 
Make communications connection J9 on AUX to termi-
nal J4 of energy management module (EMM) if the unit 
has an EMM or to terminal J4 of compressor expansion 
board (CXB).

 b. Install auxiliary harness (Item 212). Plug terminal board 
connector labeled AUX J4 to AUX board J4 and termi-
nal board connector labeled AUX J5 to AUX board J5. 



37

 c. Connect MM control harness (Item 204). Connect RED 
and BLK wires labeled AUX-J4 to RED and BLK wires 
labeled AUX-J4 of auxiliary harness (Item 212) respec-
tively. 
Connect RED and BLK wires labeled AUX-J5 to RED 
and BLK wires labeled AUX-J5 of auxiliary harness 
(Item 212) respectively. 
Connect VIO and YEL wires labeled FRA to terminals 
11 and 14 of fan relay A (FRA) (Item 501) respectively. 
Connect VIO and YEL wires labeled FRB to terminals 
11 and 14 of fan relay B (FRB) (Item 501) respectively.

 d. Connect FB/FR harness (Item 209) to fan relays 
(Item 501). Connect PNK and BRN wires labeled 
FR-A-A1 and FR-A-A2 to FRA (Item 501) terminals A1 
and A2 respectively. 
Connect VIO and BRN wires labeled FR-B-A1 and 
FR-B-A2 to FRB (Item 501) terminals A1 and A2 
respectively. 
Make splice connection from BRN wire labeled OFC-A 
COM SPLICE to BRN wire labeled FC-1 COM which 
was removed from FC1 contactor. 
Make splice connection from PNK wire labeled OFC-A 
PWR SPLICE to PNK wire labeled FC-1 COIL which 
was removed from FC1 contactor. Make splice connec-
tion from BRN wire labeled OFC-B COM SPLICE to 
BRN wire labeled FC-2 COM which was removed from 
FC2 contactor. 
Make splice connection from PNK wire labeled OFC-B 
PWR SPLICE to ORN wire labeled FC-2 COIL which 
was removed from FC2 contactor.

30RAP 130-150 units
Enclosure assembly and mounting:
1. The Motormaster enclosure assembly comes with 

Motormaster controller(s) (Item 100), power-in harness 
(Item 200), power-out harness (Item 202), and control har-
ness (Item 204) pre-installed in the Motormaster enclosure 
(Item 718).

2. Attach MM mounting brackets (Item 722) to the MM enclo-
sure (Item 718) using four AA06BS170 bolts (Item 724), 
eight AU02AB171 washers (Item 725), and four 
AT30AB171 nuts (Item 726) provided. See Fig. 27.

3. Mount the MM enclosure assembly to base frame and coil 
support using five AA06BS170 bolts (Item 724), ten 
AU02AB171 washers (Item 725), and five AT30AB171 nuts 
(Item 726) provided. Drill holes as needed. See Fig. 34-37.

4. Cut three 1/2 in. diameter holes in the bottom of the control 
box below the location of the fan contactors.

5. Route the conduit to the new holes cut in the bottom of the 
control box. 
NOTE: For Motormaster enclosure cover assembly see 
Fig. 41.

Control box modifications:
6. Remove components.

 a. Disconnect wires connected to fan contactor 1 (FC1) and 
fan contactor 2 (FC2). Remove the wires from the line 
side of contactors completely from the control box.

 b. Remove FC1 and FC2.
7. Install components.

 a. Mount Motormaster terminal blocks A and B 
(MMTB-A and MMTB-B) (Item 600) using four 
AL80AU170 screws (item 701) with terminal 11, 12, 13 
side down in location where FC1 and FC2 were 
mounted.

 b. Mount DIN rail (Item 707) below FB1 using two 
AL80AU170 screws (Item 701) provided.

 c. For Standard SCCR units mount fuse blocks 9 and 10 
(FB9 and FB10) (Item 400) to DIN rail (Item 707). 
Install 3 fuses (Item 300) in each fuse block.

 d. For High SCCR units, mount fuse block 10 (FB10) 
(Item 400) to DIN rail (Item 707). Install 3 fuses 
(Item 300) in fuse block.

 e. Mount fan relay A assembly (FRA) and fan relay B 
assembly (FRB) (Items 500 and 501) on DIN rail next to 
FB9 and FB10.

 f. Install end stop (Item 706) at each end of DIN rail 
(Item 707).

 g. If the unit came with an auxiliary board installed, skip to 
Step 8. Otherwise, install auxiliary board (Item 715) 
using four AC41AB100 screws (Item 731) provided. 
See Fig. 21. Set DIP switch 2, 5 and 7 = ON.

8. Make power connections. Refer to Fig. 5.

 a. Connect fan wires from fan motors to each terminal 
block (Item 600). Connect OFM9 BLK wires labeled 1, 
2, 3 to Motormaster terminal block A (MMTB-A) termi-
nals 21, 22, 23. Connect OFM1 BLK wires labeled 1, 2, 
3 to Motormaster terminal block B (MMTB-B) termi-
nals 21, 22, 23. Remove terminals as required.

 b. Connect MM power-out harness (Item 202). Connect 
BLK, YEL, BLU wires labeled MM-A-T1, MM-A-T2, 
MM-A-T3 to MMTB-A terminals 11, 12, 13 respec-
tively. Connect BLK, YEL, BLU wires labeled 
MM-B-T1, MM-B-T2, MM-B-T3 to MMTB-B termi-
nals 11, 12, 13 respectively. 

 c. Connect MM power-in harness (Item 200). Connect 
BLK, YEL, BLU wires labeled MM-A-L1, MM-A-L2, 
MM-A-L3 to FB9 terminals 21, 22, 23 respectively. 
Connect BLK, YEL, BLU wires labeled MM-B-L1, 
MM-B-L2, MM-B-L3 to FB10 terminals 21, 22, 23 
respectively.

 d. Install FB/FR harness (Item 209) between FB10 termi-
nals 11, 12, and 13 and FB2 terminals 21, 22, and 23 
with BLK, YEL, BLU wires respectively.

 e. For Standard SCCR units connect fuse block jumper 
(Item 206) between FB9 terminals 11, 12, and 13 and 
FB1 terminals 21, 22, and 23 with BLK, YEL, BLU 
wires respectively.

 f. For High SCCR units, remove line side wires from 
FB11, and install FB/FR harness (Item 209) between 
FB1 terminals 21, 22, and 23 and FB11 terminals 11, 12, 
and 13 with BLK, YEL, BLU wires respectively.

 g. If the unit came with an auxiliary board installed, skip to 
Step 9. Otherwise, install auxiliary power harness 
(Item 717). Make power connection J1 on AUX to J2 of 
energy management module (EMM) if the unit has an 
EMM or to terminal J2 compressor expansion board 
(CXB).

9. Make communications connections. Refer to Fig. 14 and 16.

 a. If the unit came with an auxiliary board installed, skip to 
Step 9b. Otherwise, install auxiliary communications 
harness (Item 716). Make communication connection J9 
on AUX to terminal J4 of energy management module 
(EMM) if the unit has an EMM or to terminal J4 of com-
pressor expansion board (CXB).

 b. Install auxiliary harness (Item 212). Plug terminal board 
connector labeled AUX J4 to AUX Board J4 and termi-
nal board connector labeled AUX J5 to AUX Board J5. 

 c. Connect MM control harness (Item 204). Connect RED 
and BLK wires labeled AUX-J4 to RED and BLK wires 
labeled AUX-J4 of auxiliary harness (Item 212) respec-
tively. 
Connect RED and BLK wires labeled AUX-J5 to RED 
and BLK wires labeled AUX-J5 of auxiliary harness 



38

(Item 212) respectively. 
Connect VIO and YEL wires labeled FRA to terminals 
11 and 14 of fan relay A (FRA) (Item 501) respectively. 
Connect VIO and YEL wires labeled FRB to terminals 
11 and 14 of fan relay B (FRB) (Item 501) respectively.

 d. Connect FB/FR harness (Item 209) to fan relays 
(Item 501). Connect PNK and BRN wires labeled 
FR-A-A1 and FR-A-A2 to FRA (Item 501) terminals A1 
and A2 respectively. 
Connect VIO and BRN wires labeled FR-B-A1 and 
FR-B-A2 to FRB (Item 501) terminals A1 and A2 
respectively. 
Make splice connection from BRN wire labeled OFC-A 
COM SPLICE to BRN wire labeled FC-1 COM which 
was removed from FC1 contactor. Make splice connec-
tion from PNK wire labeled OFC-A PWR SPLICE to 
PNK wire labeled FC-1 COIL which was removed from 
FC1 contactor. 
Make splice connection from BRN wire labeled OFC-B 
COM SPLICE to BRN wire labeled FC-2 COM which 
was removed from FC2 contactor. Make splice connec-
tion from PNK wire labeled OFC-B PWR SPLICE to 
ORN wire labeled FC-2 COIL which was removed from 
FC2 contactor.

38APD/S 025-030 units
Enclosure assembly and mounting:
1. The Motormaster enclosure assembly comes with 

Motormaster controller(s) (Item 100), power-in harness 
(Item 200), power-out harness (Item 202), and control har-
ness (Item 204) pre-installed in the Motormaster enclosure 
(Item 718).

2. Attach MM mounting brackets (Item 723) to the unit corner 
post using eight AA06BS170 bolts (Item 724), sixteen 
AU02AB171 washers (Item 725), and eight AT30AB171 
nuts (Item 726) provided. See Fig. 30.

3. Cut three 1-3/8 in. diameter holes in the corner post at the 
locations shown in Fig. 29. Insert the 3 plastic bushings 
(Item 728) into holes.

4. Remove the straight connectors from the ends of the conduit 
leaving the MM enclosure. Route the conduit through the 
holes in the corner post. See Fig. 28.

5. Mount the MM enclosure assembly to the MM mounting 
brackets (Item 723) using four AA06BS170 bolts (Item 724), 
eight AU02AB171 washers (Item 725), and four 
AT30AB171 nuts (Item 726) provided. See Fig. 25.

6. Cut three 1/2 in. diameter holes in the bottom of the control 
box below the location of the fan contactors.

7. Reassemble the straight conduit connectors and route the 
conduit to the new holes cut in the bottom of the control box. 
NOTE: For Motormaster enclosure cover assembly see 
Fig. 41.

Control box modifications:
8. Remove components.

 a. Disconnect wires connected to fan contactor 1 (FC1). 
Remove the wires from the line side of contactor from 
the control box completely from the control box.

 b. Remove FC1.
9. Install components.

 a. Mount Motormaster terminal block A (MMTB-A) 
(Item 600) using two AL80AU170 screws (Item 701) 
with terminal 11, 12, 13 side down in location where 
FC1 was mounted.

 b. Mount DIN rail (Item 713) next to CCB-1 using two 
AL80AU170 screws (Item 701) provided.

 c. For standard SCCR units mount fuse block 2 (FB2) 
(Item 400) to DIN rail (Item 713). Install 3 fuses (Item 
300) in fuse block.

 d. Mount Motormaster relay (MMR) assembly (Items 500 
and 501) on DIN rail (Item 713) next to FB1 and FB2 
(Item 400).

 e. Install end stop (Item 706) at each end of DIN rail.
 f. If the unit came with an auxiliary board installed, skip to 

Step 10. Otherwise, install auxiliary board (Item 715) 
using four AC41AB100 screws (Item 731) provided. 
See Fig. 22. Set DIP switch 2, 5 and 7 = ON.

10. Make power connections. Refer to Fig. 6.

 a. Connect OFM2 BLK wires labeled 1, 2, 3 to 
Motormaster terminal block A (MMTB-A) (Item 600) 
terminals 21, 22, 23. Remove terminals as required.

 b. Connect MM power-out harness (Item 202) BLK, YEL, 
BLU wires labeled MM-A-T1, MM-A-T2, MM-A-T3 to 
MMTB-A terminals 11, 12, 13 respectively. 

 c. Connect MM power-in harness (Item 200) BLK, YEL, 
BLU wires labeled MM-A-L1, MM-A-L2, MM-A-L3 to 
FB2 terminals 21, 22, 23 respectively.

 d. For Standard SCCR units, install fuse block jumper 
(Item 206) between FB1 terminals 21, 22, and 23 and 
FB2 terminals 11, 12, and 13 with BLK, YEL, BLU 
wires respectively.

 e. If the unit came with an auxiliary board installed, skip to 
Step 11. Otherwise install auxiliary power harness 
(Item 717). Make power connection J1 on AUX to ter-
minal J2 of energy management module (EMM) if the 
unit has an EMM or to terminal J2 of main base board 
(MMB). Refer to Fig. 15.

11. Make communications connections. Refer to Fig. 13 and 16.

 a. If the unit came with an auxiliary board installed, skip to 
Step 11b. Otherwise, install auxiliary communications 
harness (Item 716). Make communication connection J9 
on AUX to terminal J3 of energy management module 
(EMM) if the unit has an EMM or to terminal J3 of 
MBB.

 b. Install auxiliary harness (Item 212). Plug terminal board 
connector labeled AUX J4 to AUX Board J4. 

 c. Connect MM control harness (Item 204). Connect RED 
and BLK wires to auxiliary harness (Item 212). Connect 
VIO and YEL wires to terminals 11 and 14 of relay 
socket (Item 501) respectively.

 d. Install MMR harness (Item 210). Connect PNK and 
BRN wires to relay socket (Item 501) terminals A1 and 
A2 respectively. 
Make splice connection from BRN wire labeled OFC 
COM SPLICE to BRN wire labeled FC-1 COM which 
was removed from FC1 contactor. 
Make splice connection from PNK wire labeled OFC 
PWR SPLICE to PNK wire labeled FC-1 COIL which 
was removed from FC1 contactor.

38APS 040-050 and 38APD 040-060 units
Enclosure assembly and mounting:
1. The Motormaster enclosure assembly comes with 

Motormaster controller(s) (Item 100), power-in harness 
(Item 200), power-out harness (Item 202), and control har-
ness (Item 204) pre-installed in the Motormaster enclosure 
(Item 718).

2. Attach MM mounting brackets (Item 723) to the MM enclo-
sure (Item 718) using four AA06BS170 bolts (Item 724), 
eight AU02AB171 washers (Item 725), and four 
AT30AB171 nuts (Item 726) provided. See Fig. 26.



39

3. Remove access panel from unit and cut three 1-3/8 in. diame-
ter holes in the access panel at the locations shown in Fig. 32. 
Insert the 3 plastic bushings (Item 728) into holes.

4. Remove the straight connectors from the ends of the conduit 
leaving the MM enclosure. Route the conduit through the 
holes in the access panel. See Fig. 31.

5. Mount the MM enclosure assembly to the access panel using 
eight AA06BS170 bolts (Item 724), sixteen AU02AB171 
washers (Item 725), and eight AT30AB171 nuts (Item 726) 
provided. Reinstall the access panel once the MM enclosure 
is securely mounted. See Fig. 33.

6. Cut three 1/2 in. diameter holes in the bottom of the control 
box below the location of the fan contactors.

7. Reassemble the straight conduit connectors and route the 
conduit to the new holes cut in the bottom of the control box. . 
NOTE: For Motormaster enclosure cover assembly see 
Fig. 41. 

Control box modifications:
8. Remove components.

 a. Disconnect wires connected to fan contactor 1 (FC1). 
Remove the wires from the line side of contactor 
completely from the control box.

 b. Remove FC1.
9. Install components.

 a. Mount Motormaster terminal block A (MMTB-A) 
(Item 600) using two AL80AU170 screws (Item 701) 
with terminal 11, 12, 13 side down in location where 
FC1 was mounted.

 b. Mount DIN rail (Item 707) next to FB2 using two 
AL80AU170 screws (Item 701) provided.

 c. For Standard SCCR units mount fuse block 1 (FB1) 
(Item 400) to DIN rail (Item 713). Install 3 fuses 
(Item 300) in fuse block.

 d. Mount Motormaster relay (MMR) assembly (Items 500 
and 501) on DIN rail (Item 707) next to fuse block 1 and 
2 (Item 400) (FB1 and FB2).

 e. Install end stop (Item 706) at each end of DIN rail 
(Item 707).

 f. If the unit came with an auxiliary board installed, skip to 
Step 10. Otherwise, install auxiliary board (Item 715) 
using four AC41AB100 screws (Item 731) provided. 
See Fig. 23. Set DIP switch 2, 5 and 7 = ON.

10. Make power connections. Refer to Fig. 7.

 a. Connect OFM3 BLK wires labeled 1, 2, 3 to 
Motormaster terminal block A (MMTB-A) (Item 600) 
terminals 21, 22, 23. Remove terminals as required.

 b. Connect MM power-out harness (Item 202) BLK, YEL, 
BLU wires labeled MM-A-T1, MM-A-T2, MM-A-T3 to 
MMTB-A terminals 11, 12, 13 respectively. 

 c. Connect MM power-in harness (Item 200) BLK, YEL, 
BLU wires labeled MM-A-L1, MM-A-L2, MM-A-L3 to 
FB1 terminals 21, 22, 23 respectively.

 d. For Standard SCCR units install fuse block jumper 
(Item 206) between FB2 terminals 21, 22, and 23 and 
FB1 terminals 11, 12, and 13 with BLK, YEL, BLU 
wires respectively.

 e. For High SCCR units, remove line side wires from FB3, 
and install fuse block jumper (Item 206) between FB2 
terminals 21, 22, and 23 and FB3 terminals 11, 12, and 
13 with BLK, YEL, BLU wires respectively.

 f. If the unit came with an auxiliary board installed, skip to 
Step 11. Otherwise, install auxiliary power harness 
(Item 717). Make power connection J1 on AUX to ter-

minal J2 of energy management module (EMM) if the 
unit has an EMM or to terminal J2 of main base board 
(MMB). Refer to Fig. 15.

11. Make communications connections. Refer to Fig. 13 and 16.

 a. If the unit came with an auxiliary board installed, skip to 
Step 11b. Otherwise, install auxiliary communications 
harness (Item 716). Make communication connection J9 
on AUX to terminal J3 of energy management module 
(EMM) if the unit has an EMM or to terminal J3 of 
MBB.

 b. Install auxiliary harness (Item 212). Plug terminal board 
connector labeled AUX J4 to AUX Board J4. 

 c. Connect MM control harness (Item 204). Connect RED 
and BLK wires to auxiliary harness (Item 212). Connect 
VIO and YEL wires to terminals 11 and 14 of relay 
socket (Item 501) respectively.

 d. Install MMR harness (Item 210). Connect PNK and 
BRN wires to the relay socket (Item 501) terminals A1 
and A2 respectively. Make splice connection from BRN 
wire labeled OFC COM SPLICE to BRN wire labeled 
FC-1 COM which was removed from FC1 contactor. 
Make splice connection from PNK wire labeled OFC 
PWR SPLICE to PNK wire labeled FC-1 COIL which 
was removed from FC1 contactor.

38APS 065 units
Enclosure assembly and mounting:
1. The Motormaster enclosure assembly comes with 

Motormaster controller(s) (Item 100), power-in harness 
(Item 200), power-out harness (Item 202), and control har-
ness (Item 204) pre-installed in the Motormaster enclosure 
(Item 718).

2. Attach MM mounting brackets (Item 722) to the MM enclo-
sure (Item 718) using four AA06BS170 bolts (Item 724), 
eight AU02AB171 washers (Item 725), and four 
AT30AB171 nuts (Item 726) provided. See Fig. 27.

3. Mount the MM enclosure assembly to base frame and coil 
support using five AA06BS170 bolts (Item 724), ten 
AU02AB171 washers (Item 725), and five AT30AB171 nuts 
(Item 726) provided. Drill holes as needed. See Fig. 34-37.

4. Cut three 1/2 in. diameter holes in the bottom of the control 
box below the location of the fan contactors.

5. Route the conduit to the new holes cut in the bottom of the 
control box. 
NOTE: For Motormaster enclosure cover assembly see 
Fig. 41.

Control box modifications:
6. Remove components.

 a. Disconnect wires connected to fan contactor 1 (FC1). 
Remove the wires from the line side of contactor 
completely from the control box.

 b. Remove FC1.
7. Install components.

 a. Mount Motormaster terminal block A (MMTB-A) 
(Item 600) using two AL80AU170 screws (Item 701) 
with terminal 11, 12, 13 side down in location where 
FC1 was mounted.

 b. Mount DIN rail (Item 707) next to FB1 using two 
AL80AU170 screws (Item 701) provided.

 c. For Standard SCCR units mount fuse block 9 (FB9) 
(Item 400) to DIN rail (Item 707). Install 3 fuses (Item 
300) in fuse block.

 d. Mount fan relay (FR) assembly (Items 500 and 501) on 
DIN rail next to FB9.



40

 e. Install end stop (Item 706) at each end of DIN rail 
(Item 707).

 f. If the unit came with an auxiliary board installed, skip to 
Step 8. Otherwise, install auxiliary board (Item 715) 
using four AC41AB100 screws (Item 731) provided. 
See Fig. 24. Set DIP switch 2, 5 and 7 = ON.

8. Make power connections. Refer to Fig. 8.

 a. Connect OFM1 BLK wires labeled 1, 2, 3 to 
Motormaster terminal block A (MMTB-A) (Item 600) 
terminals 21, 22, 23. Remove terminals as required.

 b. Connect MM power-out harness (Item 202) BLK, YEL, 
BLU wires labeled MM-A-T1, MM-A-T2, MM-A-T3 to 
MMTB-A terminals 11, 12, 13 respectively. 

 c. Connect MM power-in harness (Item 200) BLK, YEL, 
BLU wires labeled MM-A-L1, MM-A-L2, MM-A-L3 to 
FB9 terminals 21, 22, 23 respectively. 

 d. For Standard SCCR units install FB/FR harness 
(Item 211) between FB1 terminals 21, 22, and 23 and 
FB9 terminals 11, 12, and 13 with BLK, YEL, BLU 
wires respectively. 

 e. For High SCCR units, remove line side wires from 
FB10, and install FB/FR harness (Item 211) between 
FB1 terminals 21, 22, and 23 and FB10 terminals 11, 12, 
and 13 with BLK, YEL, BLU wires respectively.

 f. If the unit came with an auxiliary board installed, skip to 
Step 9. Otherwise, install auxiliary power harness 
(Item 717). Make power connection J1 on AUX to ter-
minal J2 of energy management module (EMM) if the 
unit has an EMM or to terminal J2 of main base board 
(MMB). Refer to Fig. 15.

9. Make communications connections. Refer to Fig. 14 and 16.

 a. If the unit came with an auxiliary board installed, skip to 
Step 9b. Otherwise, install auxiliary communications 
harness (Item 716). Make communication connection J9 
on AUX to terminal J3 of energy management module 
(EMM) if the unit has an EMM or to terminal J3 of 
MBB.

 b. Install auxiliary harness (Item 212). Plug terminal board 
connector labeled AUX J5 to AUX Board J5. 

 c. Connect MM control harness (Item 204). Connect RED 
and BLK wires to auxiliary harness (Item 212). Connect 
VIO and YEL wires to terminals 11 and 14 of FR 
(Item 501) respectively.

 d. Connect FB/FR harness (Item 211) to fan relay 
(Item 501). Connect PNK and BRN wires labeled 
FR-A-A1 and FR-A-A2 to FRA (Item 501) terminals A1 
and A2 respectively. 
Make splice connection from BRN wire labeled OFC 
COM SPLICE to BRN wire labeled FC-1 COM which 
was removed from FC1 contactor. Make splice connec-
tion from PNK wire labeled OFC PWR SPLICE to PNK 
wire labeled FC-1 COIL which was removed from FC1 
contactor.

38APD 070-100 units
Enclosure assembly and mounting:
1. The Motormaster enclosure assembly comes with 

Motormaster controller(s) (Item 100), power-in harness 
(Item 200), power-out harness (Item 202), and control har-
ness (Item 204) pre-installed in the Motormaster enclosure 
(Item 718).

2. Attach MM mounting brackets (Item 722) to the MM enclo-
sure (Item 718) using four AA06BS170 bolts (Item 724), 
eight AU02AB171 washers (Item 725), and four 
AT30AB171 nuts (Item 726) provided. See Fig. 27.

3. Mount the MM enclosure assembly to base frame and coil 
support using five AA06BS170 bolts (Item 724), ten 
AU02AB171 washers (Item 725), and five AT30AB171 nuts 
(Item 726) provided. Drill holes as needed. See Fig. 34-37.

4. Cut three 1/2 in. diameter holes in the bottom of the control 
box below the location of the fan contactors.

5. Route the conduit to the new holes cut in the bottom of the 
control box. 
NOTE: For Motormaster enclosure cover assembly see 
Fig. 41.

Control box modifications:
6. Remove components.

 a. Disconnect wires connected to fan contactors. Remove 
the wires from the line side of contactors completely 
from the control box. 
38AP 070, 090, and 100: FC1 and FC2. 
38AP 080: FC1 and FC4.

 b. Remove fan contactors. 
38AP 070, 090, and 100: FC1 and FC2. 
38AP 080: FC1 and FC4.

7. Install components.

 a. Mount Motormaster terminal blocks A and B 
(MMTB-A and MMTB-B) (Item 600) using four 
AL80AU170 screws (Item 701) with terminal 11, 12, 13 
side down in location where FC1 and FC2 or FC4 were 
mounted.

 b. Mount DIN rail (Item 707) where FC1 used to be using 
two AL80AU170 screws (Item 701) provided.

 c. For Standard SCCR units mount fuse blocks 9 and 10 
(FB9 and FB10) (Item 400) to DIN rail (Item 707). 
Install 3 fuses (Item 300) in each fuse block.

 d. For High SCCR units, Mount fuse block 10 (FB10) 
(Item 400) to DIN rail (Item 707). Install 3 fuses 
(Item 300) in fuse block.

 e. Mount fan relay A assembly (FRA) and fan relay B 
assembly (FRB) (Items 500 and 501) on DIN rail next to 
FB9 and FB10.

 f. Install end stop (Item 706) at each end of DIN rail 
(Item 707).

 g. If the unit came with an auxiliary board installed, skip to 
Step 8. Otherwise, install auxiliary board (Item 715) 
using four AC41AB100 screws (Item 731) provided. 
See Fig. 25. Set DIP switch 2, 5 and 7 = ON.

8. Make power connections. Refer to Fig. 9.

 a. Connect fan wires from fan motors to each terminal 
block (Item 600). Connect each set of OFM BLK wires 
labeled 1, 2, 3 to each Motormaster terminal block termi-
nals 21, 22, 23. Remove terminals as required. 
38AP070, 38AP090, and 38APD100: OFM3 to 
MMTB-A and OFM1 to MMTB-B. 
38AP080: OFM5 to MMTB-A and OFM3 to MMTB-B.

 b. Connect MM power-in harness (Item 200). Connect 
BLK, YEL, BLU wires labeled MM-A-L1, MM-A-L2, 
MM-A-L3 to FB9 terminals 21, 22, 23 respectively. 
Connect BLK, YEL, BLU wires labeled MM-B-L1, 
MM-B-L2, MM-B-L3 to FB10 terminals 21, 22, 23 
respectively.

 c. For Standard SCCR units install FB/FR harness 
(Item 209) between FB2 terminals 21, 22, and 23 and 
FB9 terminals 11, 12, and 13 with BLK, YEL, BLU 
wires respectively.

 d. For High SCCR units, remove line side wires from 
FB11, and install FB/FR harness (Item 209) between 
FB2 terminals 21, 22, and 23 and FB11 terminals 11, 12, 
and 13 with BLK, YEL, BLU wires respectively.



41

 e. Connect fuse block jumper (Item 206) between FB9 ter-
minals 11, 12, and 13 and FB10 terminals 11, 12, and 13 
with BLK, YEL, BLU wires respectively.

 f. If the unit came with an auxiliary board installed, skip to 
Step 9. Otherwise, install auxiliary power harness 
(Item 717). Make power connection J1 on AUX to J2 of 
energy management module (EMM) if the unit has an 
EMM or to terminal J2 compressor expansion board 
(CXB).

9. Make communications connections. Refer to Fig. 14 and 16.

 a. If the unit came with an auxiliary board installed, skip to 
Step 9b. Otherwise, install auxiliary communications 
harness (Item 716). 
Make communication connection J9 on AUX to termi-
nal J3 of energy management module (EMM) if the unit 
has an EMM or to terminal J4 of compressor expansion 
board (CXB).

 b. Install auxiliary harness (Item 212). Plug terminal board 
connector labeled AUX J4 to AUX board J4 and termi-
nal board connector labeled AUX J5 to AUX board J5. 

 c. Connect MM control harness (Item 204). Connect RED 
and BLK wires labeled AUX-J4 to RED and BLK wires 
labeled AUX-J4 of auxiliary harness (Item 212) respec-
tively. 
Connect RED and BLK wires labeled AUX-J5 to RED 
and BLK wires labeled AUX-J5 of auxiliary harness 
(Item 212) respectively. 
Connect VIO and YEL wires labeled FRA to terminals 
11 and 14 of fan relay A (FRA) (Item 501) respectively. 
Connect VIO and YEL wires labeled FRB to terminals 
11 and 14 of fan relay B (FRB) (Item 501) respectively.

 d. Connect FB/FR harness (Item 209) to fan relays 
(Item 501). Connect PNK and BRN wires labeled 
FR-A-A1 and FR-A-A2 to FRA (Item 501) terminals A1 
and A2 respectively. 
Connect VIO and BRN wires labeled FR-B-A1 and 
FR-B-A2 to FRB (Item 501) terminals A1 and A2 
respectively. Make splice connection from BRN wire 
labeled OFC-A COM SPLICE to BRN wire labeled 
FC-1 COM which was removed from FC1 contactor. 
Make splice connection from PNK wire labeled OFC-A 
PWR SPLICE to PNK wire labeled FC-1 COIL which 
was removed from FC1 contactor. 
For 38AP070, 090, and 100 units: 
Make splice connection from BRN wire labeled OFC-B 
COM SPLICE to BRN wire labeled FC-2 COM which 
was removed from FC2 contactor. Make splice connec-
tion from PNK wire labeled OFC-B PWR SPLICE to 
ORN wire labeled FC-2 COIL which was removed from 
FC2 contactor. 
For 38AP 080 units: 
Make splice connection from BRN wire labeled OFC-B 
COM SPLICE to BRN wire labeled FC-4 COM which 
was removed from FC4 contactor. Make splice connec-
tion from PNK wire labeled OFC-B PWR SPLICE to 
ORN wire labeled FC-4 COIL which was removed from 
FC4 contactor.

38APD 115-130 units
Enclosure assembly and mounting:
1. The Motormaster enclosure assembly comes with 

Motormaster controller(s) (Item 100), power-in harness 
(Item 200), power-out harness (Item 202), and control har-
ness (Item 204) pre-installed in the Motormaster enclosure 
(Item 718).

2. Attach MM mounting brackets (Item 722) to the MM enclo-
sure (Item 718) using four AA06BS170 bolts (Item 724), 
eight AU02AB171 washers (Item 725), and four 
AT30AB171 nuts (Item 726) provided. See Fig. 27.

3. Mount the MM enclosure assembly to base frame and coil 
support using five AA06BS170 bolts (Item 724), ten 
AU02AB171 washers (Item 725), and five AT30AB171 nuts 
(Item 726) provided. Drill holes as needed. See Fig. 34-37.

4. Cut three 1/2 in. diameter holes in the bottom of the control 
box below the location of the fan contactors.

5. Route the conduit to the new holes cut in the bottom of the 
control box. 
NOTE: For Motormaster enclosure cover assembly see 
Fig. 41.

Control box modifications:
6. Remove components.

 a. Disconnect wires connected to fan contactor 5 (FC5) and 
fan contactor 2 (FC2). Remove the wires from the line 
side of contactors completely from the control box.

 b. Remove FC5 and FC2.
7. Install components.

 a. Mount Motormaster terminal blocks A and B 
(MMTB-A and MMTB-B) (Item 600) using four 
AL80AU170 screws (Item 701) with terminal 11, 12, 13 
side down in location where FC5 and FC2 were 
mounted.

 b. Mount DIN rail (Item 707) where FC5 used to be using 
two AL80AU170 screws (Item 701) provided.

 c. For Standard SCCR units mount fuse blocks 9 and 10 
(FB9 and FB10) (Item 400) to DIN rail (Item 707). 
Install 3 fuses (Item 300) in each fuse block.

 d. For High SCCR units, Mount fuse block 10 (FB10) 
(Item 400) to DIN rail (Item 707). Install 3 fuses 
(Item 300) in fuse block.

 e. Mount fan relay A assembly (FRA) and fan relay B 
assembly (FRB) (Items 500 and 501) on DIN rail next to 
FB9 and FB10.

 f. Install end stop (Item 706) at each end of DIN rail 
(Item 707).

 g. If the unit came with an auxiliary board installed, skip to 
Step 8. Otherwise, install auxiliary board (Item 715) 
using four AC41AB100 screws (Item 731) provided. 
See Fig. 22. Set DIP switch 2, 5 and 7 = ON.

8. Make power connections. Refer to Fig. 10.

 a. Connect fan wires from fan motors to each terminal 
block (Item 600). Connect OFM7 BLK wires labeled 1, 
2, 3 to Motormaster terminal block A (MMTB-A) termi-
nals 21, 22, 23. Connect OFM1 BLK wires labeled 1, 2, 
3 to Motormaster terminal block B (MMTB-B) termi-
nals 21, 22, 23. Remove terminals as required.

 b. Connect MM power-out harness (Item 202). Connect 
BLK, YEL, BLU wires labeled MM-A-T1, MM-A-T2, 
MM-A-T3 to MMTB-A terminals 11, 12, 13 respec-
tively. Connect BLK, YEL, BLU wires labeled 
MM-B-T1, MM-B-T2, MM-B-T3 to MMTB-B termi-
nals 11, 12, 13 respectively. 

 c. Connect MM power-in harness (Item 200) BLK, YEL, 
BLU wires labeled MM-A-L1, MM-A-L2, MM-A-L3 to 
FB9 terminals 21, 22, 23 respectively. Connect BLK, 
YEL, BLU wires labeled MM-B-L1, MM-B-L2, 
MM-B-L3 to FB10 terminals 21, 22, 23 respectively.

 d. For Standard SCCR units install FB/FR harness 
(Item 209) between FB2 terminals 11, 12, and 13 and 
FB9 terminals 11, 12, and 13 with BLK, YEL, BLU 
wires respectively.

 e. For High SCCR units, remove line side wires from 
FB11, and install FB/FR harness (Item 209) between 



42

FB2 terminals 21, 22, and 23 and FB11 terminals 11, 12, 
and 13 with BLK, YEL, BLU wires respectively.

 f. Connect fuse block jumper (Item 206) between FB9 ter-
minals 21, 22, and 23 and FB10 terminals 11, 12, and 13 
with BLK, YEL, BLU wires respectively.

 g. If the unit came with an auxiliary board installed, skip to 
Step 9. Otherwise, install auxiliary power harness 
(Item 717). Make power connection J1 on AUX to J2 of 
energy management module (EMM) if the unit has an 
EMM or to terminal J2 compressor expansion board 
(CXB).

9. Make communications connections. Refer to Fig. 14 and 16.

 a. If the unit came with an auxiliary board installed, skip to 
Step 9b. Otherwise, install auxiliary communications 
harness (Item 716). Make communication connection J9 
on AUX to terminal J3 of energy management module 
(EMM) if the unit has an EMM or to terminal J4 of com-
pressor expansion board (CXB).

 b. Install auxiliary harness (Item 212). Plug terminal board 
connector labeled AUX J4 to AUX Board J4 and termi-
nal board connector labeled AUX J5 to AUX Board J5. 

 c. Connect MM control harness (Item 204). Connect RED 
and BLK wires labeled AUX-J4 to RED and BLK wires 
labeled AUX-J4 of auxiliary harness 
(Item 212) respectively. 
Connect RED and BLK wires labeled AUX-J5 to RED 
and BLK wires labeled AUX-J5 of auxiliary harness 
(Item 212) respectively. 
Connect VIO and YEL wires labeled FRA to terminals 
11 and 14 of fan relay A (FRA) (Item 501) respectively. 
Connect VIO and YEL wires labeled FRB to terminals 
11 and 14 of fan relay B (FRB) (Item 501) respectively.

 d. Connect FB/FR harness (Item 209) to fan relays 
(Item 501). Connect PNK and BRN wires labeled 
FR-A-A1 and FR-A-A2 to FRA (Item 501) terminals A1 
and A2 respectively. Connect VIO and BRN wires 
labeled FR-B-A1 and FR-B-A2 to FRB (Item 501) ter-
minals A1 and A2 respectively. Make splice connection 
from BRN wire labeled OFC-A COM SPLICE to BRN 
wire labeled FC-1 COM which was removed from FC1 
contactor. 
Make splice connection from PNK wire labeled OFC-A 
PWR SPLICE to PNK wire labeled FC-1 COIL which 
was removed from FC1 contactor. 
Make splice connection from BRN wire labeled OFC-B 
COM SPLICE to BRN wire labeled FC-5 COM which 
was removed from FC5 contactor. Make splice connec-
tion from PNK wire labeled OFC-B PWR SPLICE to 
ORN wire labeled FC-5 COIL which was removed from 
FC5 contactor.

09DP UNIT INSTALLATION

See Table 1 for accessory usage. Refer to “Accessory Package 
Contents” on page 57 for corresponding item numbers. 
NOTE: These instructions are written to include the option for 
High SCCR (Short Circuit Current Rating) applications. High 
SCCR units can be identified by the 13th position (Ambient/Inter-
rupt Option) in the model number as high interrupt. These are 
09DP unit options 3 and 9. 

09DP 018-060 Units
Enclosure assembly and mounting:
1. The Motormaster enclosure assembly comes with 

Motormaster controller(s) (Item 100), power-in harness 
(Item 200), power-out harness (Item 202), and control har-
ness (Item 204) pre-installed in the Motormaster enclosure 
(Item 718).

2. For 09DP 035-060 units: 
Attach MM mounting brackets (Item 723) to the MM enclo-
sure (Item 718) using four AA06BS170 bolts (Item 724), 
eight AU02AB171 washers (Item 725), and four 
AT30AB171 nuts (Item 726) provided. See Fig. 26.

3. For 09DP 018-030 units:
Attach MM mounting brackets (Item 723) to the unit corner 
post using eight AA06BS170 bolts (Item 724), sixteen 
AU02AB171 washers (Item 725), and eight AT30AB171 
nuts (Item 726) provided. See Fig. 29.

4. Cut three 1-3/8 in. diameter holes in the corner post for 09DP 
018-030 units or into the access panel for 09DP 035-060 
units, at the locations shown in Fig. 29 for 09DP 018-030 or 
Fig. 32 for 09DP 035-060. Insert the 3 plastic bushings 
(Item 728) into holes.

5. Remove the straight connectors from the ends of the conduit 
leaving the MM enclosure. Route the conduit through the 
holes in the corner post. See Fig. 28 for 09DP 018-030 and 
Fig. 31 for 09DP 035-060.

6. For 09DP 018-30 units: 
Mount the MM enclosure assembly to the MM mounting 
brackets using four AA06BS170 bolts (Item 724), eight 
AU02AB171 washers (Item 725), and four AT30AB171 nuts 
(Item 726) provided. See Fig. 26.

7. For 09DP 035-060 units: 
Remove the access panel and mount the MM enclosure 
assembly to the access panel using eight AA06BS170 bolts 
(Item 724), sixteen AU02AB171 washers (Item 725), and 
eight AT30AB171 nuts (Item 726) provided. Reinstall the 
access panel once the MM enclosure is securely mounted. 
See Fig. 32.

8. Cut three 1/2 in. diameter holes in the bottom of the control 
box below the location of the fan contactors.

9. Reassemble the straight conduit connectors and route the 
conduit to the new holes cut in the bottom of the control box. 
NOTE: For Motormaster enclosure cover assembly see 
Fig. 41.

Control box modifications:
10. Remove components.

 a. Disconnect wires connected to fan contactor 1 (FC1). 
Remove the wires from the line side of contactor 
completely from the control box.

 b. Remove FC1.
11. Install components.

 a. Mount Motormaster terminal block A (MMTB-A) 
(Item 600) with terminal 11, 12, 13 side down using two 
AL80AU170 screws (Item 701) next to DIN rail 
(Item 714).

 b. Mount DIN rail (Item 714) where FC1 used to be using 
two AL80AU170 screws (Item 701) provided.

 c. For Standard SCCR units, mount fuse block 1 (FB1) 
(Item 400) to DIN rail (Item 714). Install 3 fuses 
(Item 300) in fuse block.

IMPORTANT: This procedure will show installation for high 
SCCR applications. Perform the following steps to modify cor-
responding unit with the accessory. All accessory installations 
should be installed and wired as such for ease of installation. 
NOTE: Lock out and tag out all power connections.



43

 d. For High SCCR units mount fuse blocks 1 and 2 (FB1 
and FB2) (Item 400) to DIN rail (Item 714). Install 3 
fuses (Item 300) in each fuse block.

 e. Mount fan relay (FR) assembly (Items 500 and 501) on 
DIN rail (item 714) next to fuse block 1 (FB1) 
(Item 400).

 f. Install end stop (Item 706) at each end of DIN rail 
(Item 714).

 g. Install Motormaster pressure transducer (MMPT-A) 
(Item 711) on liquid line per Fig. 38 for 09DP 018-030 
and Fig. 39 for 09DP 035-060.

12. Make power connections Refer to Fig. 12.

 a. Connect fan OFM BLK wires labeled 1, 2, 3 to Motor-
master terminal block A (MMTB-A) (Item 600) termi-
nals 21, 22, 23. Remove terminals as required. 
09DP 018-030: OFM1 to MMTB-A. 
09DP 035-060: OFM3 to MMTB-A.

 b. Connect MM power-out harness (Item 202) to terminal 
block (Item 600) BLK, YEL, BLU wires labeled 
MM-A-T1, MM-A-T2, MMA-T3 to MMTB-A termi-
nals 11, 12, 13 respectively. 

 c. For High SCCR units connect MM power-in harness 
(Item 200) BLK, YEL, BLU wires labeled MM-A-L1, 
MM-A-L2, MM-A-L3 to FB2 terminals 21, 22, 23 
respectively.

 d. For Standard SCCR units, connect MM power-in 
harness (Item 200) BLK, YEL, BLU wires labeled 
MM-A-L1, MM-A-L2, MM-A-L3 to FB1 terminals 21, 
22, 23 respectively.

 e. For High SCCR units install fuse block jumper 
(Item 206) between FB1 terminals 21, 22, and 23 and 
FB2 terminals 11, 12, and 13 with BLK, YEL, BLU 
wires respectively.

 f. Install FB1/FB3 to TB1 harness (Item 208) between 
TB1A terminals 21, 22, 23 and FB1 terminals 11, 12, 13 
with BLK, YEL, BLU wires respectively.

13. Make communications connections. Refer to Fig. 17.

 a. Connect MM control harness (Item 204). Connect YEL 
and VIO wires to terminal 14 and 11 of FR (Item 501) 
respectively. Connect BLK, GRN, and RED wires to 
BLK, GRN and RED wires of MM pressure transducer 
harness (Item 727) respectively.

 b. Route pressure transducer harness (Item 727) out of the 
bushing in the bottom of the control box and connect to 
the MM pressure transducer (Item 711). 

 c. Install MMR harness (Item 210). Connect PNK and 
BRN wires to FR (Item 501) terminals C1 and C2 
respectively. 
Make splice connection from BRN wire labeled OFC 
COM SPLICE to BRN wire labeled FC-1 COM which 
was removed from FC1 contactor. 
Make splice connection from PNK wire labeled OFC 
PWR SPLICE to RED (09DP 018-030) or VIO 
(09DP 035-060) wire labeled FC-1 COIL which was 
removed from FC1 contactor.

 d. For R-410A applications install MM jumper harness 
(Item 732) between MM-A terminals +24 and DI3.

 e. For R-22 applications install MM jumper harness 
(Item 732) between MM-A terminals +24 and DI2.

09DP 065-130 units
Enclosure assembly and mounting:
1. The Motormaster enclosure assembly comes with 

Motormaster controller(s) (Item 100), power-in harness 
(Item 200), power-out harness (Item 202), and control har-
ness (Item 204) pre-installed in the Motormaster enclosure 
(Item 718).

2. Attach MM mounting brackets (Item 722) to the MM enclo-
sure (Item 718) using four AA06BS170 bolts (Item 724), 
eight AU02AB171 washers (Item 725), and four 
AT30AB171 nuts (Item 726) provided. See Fig. 27.

3. Mount the MM enclosure assembly to base frame and coil 
support using five AA06BS170 bolts (Item 724), ten 
AU02AB171 washers (Item 725), and five AT30AB171 nuts 
(Item 726) provided. Drill holes as needed. See Fig. 34-37.

4. Cut three 1/2 in. diameter holes in the bottom of the control 
box below the location of the fan contactors.

5. Route the conduit to the new holes cut in the bottom of the 
control box. 
NOTE: For Motormaster enclosure cover assembly see 
Fig. 41.

Control box modifications:
6. Remove components.

 a. Disconnect wires connected to fan contactor 1 (FC1) and 
fan contactor 2 (FC2). Remove the wires from the line 
side of contactors completely from the control box.

 b. Remove FC1 and FC2.
7. Install components.

 a. Mount Motormaster terminal blocks A and B 
(MMTB-A and MMTB-B) (Item 600) with terminal 11, 
12, 13 side down using 4 AL80AU170 screws 
(Item 701) next to DIN rail (Item 707).

 b. Mount DIN rail (Item 707) where FC1 used to be using 
two AL80AU170 screws (Item 701) provided.

 c. For Standard SCCR units, mount fuse blocks 1, and 2 
(FB1 and FB2) (Item 400) to DIN rail (Item 707). Install 
3 fuses (Item 300) in each fuse block.

 d. For High SCCR units mount fuse blocks 1, 2 and 3 
(FB1, FB2, and FB3) (Item 400) to DIN rail (Item 707). 
Install 3 fuses (Item 300) in each fuse block.

 e. Mount fan relay A assembly (FRA) and fan relay B 
assembly (FRB) (Items 500 and 501) on DIN rail next to 
FB1 and FB2.

 f. Install end stop (Item 706) at each end of DIN rail 
(Item 714).

 g. Install Motormaster pressure transducers (MMPT-A and 
MMPT-B) (Item 711) on liquid line. See Fig. 40. Only 
one Motormaster pressure transducer (MMPT) needs to 
be installed on single circuit units.

8. Make power connections. Refer to Fig. 12.

 a. Connect fan wires from fan motor to terminal blocks 
(Item 600). Connect each set of OFM BLK wires labeled 
1, 2, 3 to each Motormaster terminal block terminals 21, 
22, 23. Remove terminals as required. 
09DP 065: Connect OFM1 to MMTB-A. Connect 
OFM3 to MMTB-B. 
09DP 075-095: Connect OFM1 to MMTB-A. Connect 
OFM5 to MMTB-B. Disconnect OFM3 from FC3 and 
connect to MMTB-A. 
09DP 115-130: Connect OFM1 to MMTB-A. Connect 
OFM5 to MMTB-B. Disconnect OFM3 from FC6 and 
connect to MMTB-A. Disconnect OFM7 from FC4 and 
connect to MMTB-B.

 b. Connect MM Power-out harness (Item 202). Connect 
BLK, YEL, BLU wires labeled MM-A-T1, MM-A-T2, 
MM-A-T3 to MMTB-A terminals 11, 12, 13 respec-
tively. Connect BLK, YEL, BLU wires labeled 
MM-B-T1, MM-B-T2, MM-B-T3 to MMTB-B termi-
nals 11, 12, 13 respectively.

 c. Connect MM power-in harness (Item 200). Connect 
BLK, YEL, BLU wires labeled MM-A-L1, MM-A-L2, 



44

MM-A-L3 to FB1 terminals 21, 22, 23 respectively. 
Connect BLK, YEL, BLU wires labeled MM-B-L1, 
MM-B-L2, MM-B-L3 to FB2 terminals 21, 22, 23 
respectively.

 d. For High SCCR units install FB/FR harness (Item 209) 
between FB1 terminals 11, 12, and 13 and FB3 terminals 
21, 22, and 23 with BLK, YEL, BLU wires respectively.

 e. Connect FB jumper (Item 206) between FB1 terminals 
11, 12, and 13 and FB2 terminals 11, 12, and 13 with 
BLK, YEL, BLU wires respectively.

 f. For Standard SCCR units, install FB1/FB3 to TB1 har-
ness (Item 208) between TB1A terminals 21, 22, 23 and 
FB1 terminals 11, 12, 13 with BLK, YEL, BLU wires 
respectively.

 g. For High SCCR units install FB1/FB3 to TB1 harness 
(Item 208) between TB1A terminals 21, 22, 23 and FB3 
terminals 11, 12, 13 with BLK, YEL, BLU wires 
respectively.

9. Make communications connections. Refer to Fig. 18 for 
09DP 065-095 or Fig. 19 for 09DP 115-130.

 a. Connect MM control harness (Item 204). 
Connect VIO and YEL wires labeled FRA to terminals 
11 and 14 of fan relay A (FRA) (Item 501) respectively. 
Connect VIO and YEL wires labeled FRB to terminals 
11 and 14 of fan relay B (FRB) (Item 501) respectively. 
Connect BLK, GRN, and RED wires to BLK, GRN and 
RED wires of each MM pressure transducer harness 
(Item 727) respectively.

 b. Route pressure transducer harness (Item 727) out of the 
bushing in the bottom of the control box and connect to 
the MM pressure transducers (Item 711). Be sure to con-
nect the proper circuit cable to the appropriate trans-
ducer. See Fig. 40.

 c. Connect FB/FR harness (Item 209) to fan relays 
(Item 501). Connect PNK and BRN wires labeled 
FR-A-A1 and FR-A-A2 to FRA (Item 501) terminals C1 
and C2 respectively. Connect VIO and BRN wires 
labeled FR-B-A1 and FR-B-A2 to FRB (Item 501) 
terminals C1 and C2 respectively. 
Make splice connection from BRN wire labeled OFC-A 
COM SPLICE to BRN wire labeled FC-1 COM which 
was removed from FC1 contactor. Make splice connec-
tion from PNK wire labeled OFC-A PWR SPLICE to 
ORN wire labeled FC-1 COIL which was removed from 
FC1 contactor. 
Make splice connection from BRN wire labeled OFC-B 
COM SPLICE to BRN wire labeled FC-2 COM which 
was removed from FC2 contactor. Make splice connec-
tion from VIO wire labeled OFC-B PWR SPLICE to 
VIO wire labeled FC-2 COIL which was removed from 
FC2 contactor.

 d. For R-410A applications install MM jumper harness 
(Item 732) between MM-A terminals +24 and DI3 and 
between MM-B terminals +24 and DI3.

 e. For R-22 applications install MM jumper harness 
(Item 732) between MM-A terminals +24 and DI2 and 
between MM-B terminals +24 and DI2.

Fig. 20 — Auxiliary Board Installation Location — 
30RAP 010-060 Units (Sizes 035-060 Shown)

Fig. 21 — Auxiliary Board Installation Location — 
30RAP 070-150 Units



45

Fig. 22 — Auxiliary Board Installation Location — 
38APD/S 025-030 Units

Fig. 23 — Auxiliary Board Installation Location — 
38APD/S 040-060 Units

Fig. 24 — Auxiliary Board Installation Location — 
38APS 065 Units

Fig. 25 — Auxiliary Board Installation Location — 
38APD 070-130 Units



46

p

Fig. 26 — Motormaster Cantilever Bracket 
Installation - 30RAP 010-060, 38AP 025-060, 

and 09DP 018-060 Units

Fig. 27 — Motormaster Bridge Bracket Installation — 
30RAP 070-150, 38AP 065-130, 

and 09DP 065-130 Units

Item 723 (Mounting Brackets-Cantilever Style)

Item 725 (washer) and
Item 726 (nut)

Item 724 (bolt) and Item 726 (washer)

Item 722
(Mounting Bracket-Bridge Style)

Item 725 (washer)
and Item 726 (nut)

Item 724 (bolt) and Item 726 (washer)



47

Fig. 28 — Motormaster Location — 30RAP 010-030, 38AP 025-030 and 09DP 018-030 Units (30RAP 030 Shown)

Fig. 29 — Motormaster Conduit Hole Locations — 30RAP 010-030, 38AP 025-030 and 09DP 018-030 Units 
(30RAP 030 Shown)

Motormaster 
Enclosure

5 -1/4 in.

17 -5/8 in.

3 -1/2 in.



48

-

Fig. 30 — Motormaster Enclosure Mounting Location — 30RAP 010-030, 38AP 025-030, and 09DP 018-030 Units 
(30RAP 030 Shown)

Fig. 31 — Motormaster Location — 30RAP 035-060, 38AP 035-060 and 09DP 035-060 Units (30RAP 040 Shown)

18-3/8 in.

Motormaster 
Enclosure



49

Fig. 32 — Motormaster Conduit Hole Locations — 30RAP 035-060, 38AP 035-060 and 09DP 035-060 Units 
(30RAP 040 Shown)

Fig. 33 — Motormaster Enclosure Mounting Location — 30RAP 035-060, 38AP 035-060, and 09DP 035-060 Units 
(30RAP 040 Shown)

3-1/4 in.

5-1/4 in.

6-1/4 in.

6 in.

1 in.



50

Fig. 34 — Motormaster Enclosure Mounting Location - 30RAP 070-150, 38AP 065-130, and 09DP 065-130 Units 
(38APD 100 Shown)

Fig. 35 — Motormaster Enclosure Mounting Location — 30RAP 070-150, 38AP 065-130, and 09DP 065-130 Units 
(38APD 100 Left Side View Shown)

Motormaster Enclosure

Items 724, 725, and 726
(1/4”-20 x1 in. Bolt)
(1/4 in. Washer and 1/4 in. Nut)



51

Fig. 36 — Motormaster Enclosure Mounting Location — 30RAP 070-150, 38AP 065-130, and 09DP 065-130 Units 
(38APD 100 Right Side View Shown)

Fig. 37 — Motormaster Enclosure Mounting Location 
— 30RAP 070-150, 38AP 065-130, and 09DP 065-130 

Units (38APD 100 Top View Shown)

Fig. 38 — Motormaster Pressure Transducer 
Location — 09DP 018-030 Units

Items 724, 725, 726
(1/4”-20 x1 in. Bolt)
(1/4 in. Washer 
and 1/4 in. Nut)

Items 724, 725, 
and 726
(1/4”-20 x1 in. Bolt)
(1/4 in. Washer 
and 1/4 in. Nut)

Motormaster
Transducer 
Location



52

Fig. 39 — Motormaster Pressure Transducer Location — 09DP 035-060 Units

Fig. 40 — Motormaster Pressure Transducer Location — 09DP 065-130 Units

Fan Cycle 
Pressure Switch
Locations

Motormaster
Pressure
Transducer
Location (Circuit A)

Motormaster
Pressure
Transducer
Location (Circuit B)

Fan Cycle
Pressure Switch
Installation
Locations

Motormaster
Pressure
Transducer
Location (Circuit A)



53

Fig. 41 — Motormaster Enclosure Cover Assembly

Cover Screws 
(8 x  Item 719)

Gasket Kit
 (Item 729)

Motormaster 
Enclosure 
Cover



54

START-UP

Motormaster® Parameter Instructions

30RAP AND 38AP UNITS

ATV320 drives will come preprogrammed to accept a 0 to 10 vdc 
signal from the auxiliary board. No programming is required for 
this type of installation. 

09DP UNITS

When installing this kit on a 09DP unit, the ATV320 drive will 
need to utilize the PID regulator function. The PID will receive an 
input from the pressure transducer ranging from 0.5-v to 4.5-v. 
1. In order to activate PID controls the operator will need to set 

PIF (PID feedback assign) to AI2 (Analog input A2). Follow 
the steps below to set PIF to AI2. 

DrI CONF  FULL  FUN PID PIF  AI2 
2. The operator will need to set the PR2 and PR4 (second and 

fourth PID Preset Assignments). PR2 must be set to DI2 
(Digital Input 2), and PR4 must be set to DI3 (Digital Input 
3). Follow the steps below to set PR2 and PR4. 

DrI CONF  FULL  FUN PrI Pr2  DI2 
DrI CONF  FULL  FUN PrI Pr4  DI3 
PID references
The reference setpoints are a reflection of the psi being read by the 
pressure transducer. The feedback range of the pressure transducer 
is 14.5 to 667 psi. When scaled by a factor of 10 for higher resolu-
tion of control, the effective PID reference feedback range is from 
145 to 6670. The setpoint of the PID will depend on what type of 
refrigerant is being used in the system. The following is a list of 
refrigerants and their respective reference setpoint. 

Selecting a refrigerant setpoint
Once the parameter PIF has been set to AI2, the default reference 
code is RPI (Internal PID Reference). The PID Reference (refrig-
erant setpoint) can be set to RP2 (second PID Preset Reference) by 
connecting a jumper wire from +24 to DI2. Similarly, the PID 
Reference (refrigerant setpoint) can be set to RP4 (fourth PID Pre-
set Reference) by connecting a jumper wire from +24 to DI3. 

TROUBLESHOOTING

Making Adjustments to a PID Preset Reference 
If the PID Preset Reference needs to be adjusted, start by configur-
ing the drive normally for the refrigerant that the system uses us-
ing the information in the “Selecting a Refrigerant Setpoint” sec-
tion. Once configured, the operator should push the ESC button 
until they are presented with the current operating frequency or the 
“ready” status message. Once here, the operator will be able to 
push in the rotating knob once to display the current reference. 
Push the knob in once more and the operator will then be able to 
adjust the current PID Preset Reference. Once the adjustment is 
complete, push the knob in once more and then press the ESC but-
ton until the display reads the current operating frequency or the 
“ready” status message.
Slow response from drive
If the drive does not respond fast enough to rising pressure in the 
system, the PrP (PID ramp) may be lowered or the rPG (PID Pro-
portional Gain) may be increased. 
Making adjustments to the PID Ramp
Follow the steps below to change the value of the PID ramp. 
DRI CONF  FULL  SET PrP 
Be careful to not set the PID ramp time too low as this may trigger 
an overbraking fault in the drive. 
Making adjustments to the PID proportional gain
Follow the steps below to change the value of the PID proportion-
al gain. 
DRI CONF  FULL  SET rPG 
Be careful to not set the PID proportional gain too high as this will 
cause overshoot and lead to oscillations. Any changes to the PID 
proportional gain will cause an imbalance with the rIG (PID 
Integral Gain). Please refer to the Schneider ATV320 Program-
ming Manual before adjusting these values. 

FAULTS

If it appears that a fault has occurred in the drive, the interface al-
lows the operator to check for a fault code. To check for a fault 
code, follow the steps below: 
DRI MON PFL
Table 7 shows a list of fault codes and their descriptions. 

Refrigerant psi
PID 

Preset 
Reference

Reference Code PID Preset 
Assignment

R-134a 104.3 1043
RPI 

(Internal PID 
Reference)

None

R-22 168.4 1684
RP2

 (2nd PID Preset 
Reference])

DI2 (Digital 
Input 2)

R-410a 274.3 2743
RP4 

(4th PID Preset 
Reference])

DI3 (Digital 
Input 3)



55

Table 7 — PFL Fault List

PFL CURRENT FAULT LIST
nOF No Fault (nOF): No detected fault stored.
ASF Angle Error (ASF): Angle setting detected fault. 
bLF Brake Control (bLF): Brake's motor 3-phases loss. 
brF Brake Feedback (brF): Brake contactor detected error. 
CFF Incorrect Config. (CFF): Invalid configuration at power on. 
CF12 Bad Config. (CFI2): Configuration transfer detected error. 
CnF Com. Network (CnF): NET option communication interruption. 
COF CAN Com. (COF): CANopen® communication interruption. 
CrF Capa. Charg. (CrF): Load relay detected fault.
CSF Channel Sw. Fault (CSF): Channel switching detected error. 
dLF Load Fault (dLF): Dynamic load detected error. 
EEF1 Control EEprom (EEF1): Control EEprom detected error. 
EEF2 Power EEprom (EEF2): Power EEprom detected error. 
EPF1 External Fault LI/Bit (EPF1): External detected fault from LI or local link. 
EPF2 External Fault Com. (EPF2): External interruption from communication board. 
FbE FB Fault (FbE): Function block detected error. 
FbES FB Stop Fly (FbES): Function block stop detected error. 
FCF1 Output Contactor Stuck (FCF1): Output contactor: closed contactor,
FCF2 Output Contactor Open (FCF2): Output contactor: opened contactor. 
HCF Cards Pairing (HCF): Hardware configuration detected error.
HdF IGBT Desaturation (HdF): Hardware detected error. 
ILF Option Internal Link (ILF): Option internal link interruption. 
InF1 Rating Error (InF1): Unknown drive rating. 
InF2 PWR Calib. (InF2): Unknown or incompatible power board. 
InF3 Internal Serial Link (InF3): Internal serial link communication interruption. 
InF4 Internal Mfg Area (InF4): Invalid industrialization zone. 
InF6 Internal-option (InF6): Unknown or incompatible option board. 
InF9 Internal- I Measure (InF9): Current measurement circuit detected error. 
InFA Internal-Mains Circuit (InFA): Input phase loss circuit detected error.
InFb Internal- Thermal sensor (InFb): Thermal sensor detected error (OC or SC).
InFE Internal-CPU (InFE): CPU detected fault (ram, flash, task ...).
LCF Input Contactor (LCF): Line contactor detected error. 
LFF3 AI3 4-20mA loss (LFF3): AI3 4-20 mA loss. 
ObF Overbraking (ObF): Overbraking. 
OCF Overcurrent (OCF): Overcurrent. 
OHF Drive Overheat (OHF): Drive overheating. 
OLC Proc.Overload Flt (OLC): Torque overload.
OLF Motor Overload (OLF): Motor overload. 
OPF1 1 Output Phase Loss (OPF1): Motor 1-phase loss. 
OPF2 3 Output Phase Loss] (OPF2): Motor 3-phases loss. 
OSF Mains Overvoltage] (OSF): Oversupply detected fault. 
OtFL PTC Fault (OtFL): Motor overheating detected error from PTCL: standard product. 
PHF Input Phase Loss (PHF): Main input 1-phase loss. 
PtFL LI6=PTC Probe (PtFL): PTCL detected error (OC or SC). 
SAFF Safety (SAFF): Safety function. 
SCF1 Motor Short circuit (SCF1): Motor short circuit (hard detection). 
SCF3 Ground short Circuit (SCF3): Direct ground short-circuit (hard detection). 
SCF4 IGBT Short Circuit (SCF4): IGBT short-circuit (hard detection). 
SCF5 Motor Short Circuit (SCF5): Load short-circuit during Igon load sequence (hard detection). 
SLF1 Modbus Comm. (SLF1): Modbus local serial communication interruption. 
SLF2 PC Comm. (SLF2): PC Software communication interruption. 
SLF3 HMI Comm. (SLF3): Remote terminal communication interruption. 
SOF Overspeed (SOF): Overspeed. 
SPF Speed Feedback Loss (SPF): Speed feedback loss. 
SSF Torque/current Limitation (SSF): Torque current limitation detected fault. 
tJF IGBT overheat (tJF): IGBT overheating. 
tnF Auto-tuning (tnF): Tune detected fault. 
ULF Pr.Underload Flt (ULF): Torque underload.
USF Undervoltage (USF): Undervoltage. 



56

ALARMS

If it appears that an alarm has been triggered in the drive, the 
interface allows the operator to check for an alarm code. To check 
for an alarm code, follow the steps below.
DRI MON ALR
Table 8 shows a list of alarm codes and their descriptions. 
In the event that the drive is not responding as expected, it is 
suggested that the operator cycles power to the drive. If this does 
not resolve the issue, the operator may have to perform a factory 
reset on the drive. NOTE: In performing a factory reset, the drive's 
preprogrammed settings will be erased and the operator will then 
have to reprogram the drive by hand. 
How to Factory Reset ATV320 Drive
Resolution:
To perform a factory reset from power up: 
1. Enter on dial. 
2. Scroll to CONF menu and enter. 

3. Scroll to FCS- and enter. 

4. Scroll to FRY- and enter. 

5. Select All so that " mark is at top instead of bottom. 

6. Now go to GFS parameter. 

7. Set it to YES and hold enter for 2 seconds until display LEDs 
stop flashing. 

8. VFD is reset to factory defaults. 

Table 8 — Alarm Codesa

NOTE(S):

a. List of current alarms. If an alarm is present, a ? appears on the graphic display 
terminal. 

ALARM 
CODE ALARMS (ALr)

nOAL No Alarm (nOAL)
PtCL PTC Alarm (PtCL) 
EtF External Fault (EtF) 
USA UnderV. al. (USA) 
CtA I Attained (CtA) 
FtA Freq. Th. attain. (FtA) 
F2A Freq. Th. 2 attained (F2A) 
SrA Freq.ref.att (SrA) 
tSA Th.mot. att. (tSA
tS2 Th.mot2 att. (tS2) 
tS3 Th.mot3 att. (tS3) 
UPA Underv. prev. (UPA) 
FLA HSP attain. (FLA) 
tHA Al. °C drv] (tHA) 
AG1 Alarm Group 1 (AG1) 
AG2 Alarm Group 2 (AG2) 
AG3 Alarm Group 3 (AG3) 
PEE PID error al (PEE) 
PFA PID fdbk al. (PFA) 
AP3 AI3 Al. 4-20mA (AP3) 
SSA Lim T/I att. (SSA) 
tAd Th.drv.att. (tAd) 
tJA IGBT Alarm (tJA) 
bOA Brake R. al. (bOA) 
ULA Underload. Proc. Al. (ULA) 
OLA Overload. Proc. Al. (OLA) 
rSdA Rope Slack Alarm (rSdA) 
ttHA High Torque Alarm (ttHA) 
ttLA Low Torque Alarm (ttLA) 

dLdA Dynamic Load Alarm (dLdA) 
FqLA Freq. Meter Alarm (FqLA) 



57

 APPENDIX A — ACCESSORY PACKAGE CONTENTS

ACCESSORY
PART NO.

ITEM
NUMBER PART NO. QTY PART DESCRIPTION

38AP-900---41

100 HR46TN038 1 Motormaster Controller, 230-v
200 38APHAAAFVP-A10 1 Power-In Harness
202 38APHAAAFVP-A90 1 Power-Out Harness
204 38APHAAAFVC-A10 1 Control Harness
206 38APHLSCFW-A00 1 Fuse Block Jumper
208 09DPHLDAFW-A01 1 FB1/FB3 to TB1 Harness 
210 38APHSCMFV-A01 1 MMR Harness 
212 38APHSCALXCA20 1 Auxiliary Harness
300 HY10KB300 6 Fuse, 30AMP
400 HY11MR033 2 Fuse Block
500 HN61ZP032 1 SPDT Relay
501 HY11TC032 1 Relay Socket
600 HY84MR022 1 Terminal Block
701 AL80AU170 10 No. 8-18 x 1/2 in. Screw
704 HY76TB162 10 Wire Tie
706 KA99FT060 2 DIN Rail End Stop
711 HK05ZZ010 1 Motormaster Pressure Transducer
713 XBANS3575P-4 1 DIN Rail, 0.3 x 4.0
714 XBANS3575P-6 1 DIN Rail, 0.3 x 6.0
715 HK50AA067 1 Auxiliary Board
716 38APHSCALXCA00 1 Auxiliary Communications Harness
717 38APHSCALXCA10 1 Auxiliary Power Harness
718 38AP1ES000 1 Enclosure Assembly
719 AL04AG306 8 1/4”-20 x 1/2 in. Screw
723 38AP1BS001 1 Mounting Brackets, Cantilever Style (2x)
724 AA06BS170 14 1/4”-20 x 1 in. Bolt
725 AU02AB171 28 1/4 in. Washer 
726 AT30AB171 14 1/4 in. Nut
727 38APHAAAL--A00 1 Motormaster Pressure Transducer Harness (2x)
728 HY93NH085 3 Bushing
729 38AP1GS001 1 Gasket Kit
731 AC41AB100 4 No. 8-32 x 3/8 in. Screw
732 09DPHADAF--A00 1 Motormaster Jumper Harness

LEGEND

FB — Fuse Block

FR — Fan Relay

MMR — Motormaster Relay

OFC — Outdoor Fan Contactor

SPDT — Single Pole Double Throw

TB — Terminal Block



58

 APPENDIX A — ACCESSORY PACKAGE CONTENTS (CONT)

ACCESSORY
PART NO.

ITEM
NUMBER PART NO. QTY PART DESCRIPTION

38AP-900---42

100 HR46TN040 1 Motormaster Controller, 460-v
200 38APHAAAFVP-A10 1 Power-In Harness
202 38APHAAAFVP-A90 1 Power-Out Harness
204 38APHAAAFVC-A10 1 Control Harness
206 38APHLSCFW-A00 1 Fuse Block Jumper
208 09DPHLDAFW-A01 1 FB1/FB3 to TB1 Harness
210 38APHSCMFV-A01 1 MMR Harness
212 38APHSCALXCA20 1 Auxiliary Harness
300 HY10KB200 6 Fuse, 20AMP
400 HY11MR033 2 Fuse Block
500 HN61ZP032 1 SPDT Relay
501 HY11TC032 1 Relay Socket
600 HY84MR022 1 Terminal Block
701 AL80AU170 10 No. 8 x 1/2 in. Screw 
704 HY76TB162 10 Wire Tie
706 KA99FT060 2 DIN Rail End Stop
711 HK05ZZ010 1 Motormaster PressureTransducer
713 XBANS3575P-4.00 1 DIN Rail, 0.3 x 4.0
714 XBANS3575P-6 1 DIN Rail, 0.3 x 6.0
715 HK50AA067 1 Auxiliary Board
716 38APHSCALXCA00 1 Auxiliary Communications Harness
717 38APHSCALXCA10 1 Auxiliary Power Harness
718 38AP1ES000 1 Enclosure Assembly
719 AL04AG306 8 1/4”-20 x 1/2 in. Screw
723 38AP1BS001 1 Mounting Brackets, Cantilever Style (2x)
724 AA06BS170 14 1/4”-20 x 1 in. Bolt
725 AU02AB171 28 1/4 in. Washer
726 AT30AB171 14 1/4 in. Nut
727 38APHAAAL--A00 1 Motormaster Pressure Transducer Harness (2x)
728 HY93NH085 3 Bushing
729 38AP1GS001 1 Gasket Kit
731 AC41AB100 4 No. 8-32 x 3/8 in. Screw
732 09DPHADAF--A00 1 Motormaster Jumper Harness

LEGEND

FB — Fuse Block

FR — Fan Relay

MMR — Motormaster Relay

OFC — Outdoor Fan Contactor

SPDT — Single Pole Double Throw

TB — Terminal Block



59

 APPENDIX A — ACCESSORY PACKAGE CONTENTS (CONT)

ACCESSORY
PART NO.

ITEM
NUMBER PART NO. QTY PART DESCRIPTION

38AP-900---43

100 HR46TN042 1 Motormaster Controller, 575-v
200 38APHAAAFVP-A10 1 Power-In Harness
202 38APHAAAFVP-A90 1 Power-Out Harness
204 38APHAAAFVC-A10 1 Control Harness
206 38APHLSCFW-A00 1 40-100T Fuse Block Jumper
208 09DPHLDAFW-A01 1 FB1/FB3 to TB1 Harness
210 38APHSCMFV-A01 1 MMR Harness
212 38APHSCALXCA20 1 Auxiliary Harness
300 HY10KB200 6 Fuse, 20AMP
400 HY11MR033 2 Fuse Block
500 HN61ZP032 1 SPDT Relay
501 HY11TC032 1 Relay Socket
600 HY84MR022 1 Terminal Block
701 AL80AU170 10 No. 8 x 1/2 in. Screw
704 HY76TB162 10 Wire Tie
706 KA99FT060 2 DIN Rail End Stop
711 HK05ZZ010 1 Motormaster Pressure Transducer
713 XBANS3575P-4 1 DIN Rail, 0.3 x 4.0
714 XBANS3575P-6 1 DIN Rail, 0.3 x 6.0
715 HK50AA067 1 Auxiliary Board
716 38APHSCALXCA00 1 Auxiliary Communications Harness
717 38APHSCALXCA10 1 Auxiliary Power Harness
718 38AP1ES000 1 Enclosure Assembly
719 AL04AG306 8 1/4”-20 x 1/2 in. Screw
723 38AP1BS001 1 Mounting Brackets, Cantilever Style (2x)
724 AA06BS170 14 1/4”-20 x 1 in. Bolt
725 AU02AB171 28 1/4 in. Washer
726 AT30AB171 14 1/4 in. Nut
727 38APHAAAL--A00 1 Motormaster Pressure Transducer Harness (2x)
728 HY93NH085 3 Bushing
729 38AP1GS001 1 Gasket Kit
731 AC41AB100 4 No. 8-32 x 3/8 in. Screw
732 09DPHADAF--A00 1 Motormaster Jumper Harness

LEGEND

FB — Fuse Block

FR — Fan Relay

MMR — Motormaster Relay

OFC — Outdoor Fan Contactor

SPDT — Single Pole Double Throw

TB — Terminal Block



60

 APPENDIX A — ACCESSORY PACKAGE CONTENTS (CONT)

ACCESSORY
PART NO.

ITEM
NUMBER PART NO. QTY PART DESCRIPTION

38AP-900---44

100 HR46TN038 1 Motormaster Controller, 230-v
200 38APHAAAFVP-A30 1 Power-In Harness
202 38APHAAAFVP-AB0 1 Power-Out Harness
204 38APHAAAFVC-A30 1 Control Harness
206 38APHLSCFW-A00 1 Fuse Block Jumper
208 09DPHLDAFW-A01 1 FB1/FB3 to TB1 Harness
210 38APHSCMFV-A01 1 MMR Harness 
212 38APHSCALXCA20 1 Auxiliary Harness
300 HY10KB300 6 Fuse, 30AMP
400 HY11MR033 2 Fuse Block
500 HN61ZP032 1 SPDT Relay
501 HY11TC032 1 Relay Socket
600 HY84MR022 1 Terminal Block
701 AL80AU170 10 No. 8 x 1/2 in. Screw
704 HY76TB162 10 Wire Tie
706 KA99FT060 2 DIN Rail End Stop
707 XBANS3575P-8 1 DIN Rail, 0.3 x 8.0
711 HK05ZZ010 1 Motormaster Pressure Transducer
712 38APMSCLCA-A00 1 Auxiliary Bracket
714 XBANS3575P-6 1 DIN Rail, 0.3 x 6.0
715 HK50AA067 1 Auxiliary Board
716 38APHSCALXCA00 1 Auxiliary Communications Harness
717 38APHSCALXCA10 1 Auxiliary Power Harness
718 38AP1ES000 1 Enclosure Assembly
719 AL04AG306 8 1/4”-20 x 1/2 in. Screw
723 38AP1BS001 1 Mounting Brackets, Cantilever Style (2x)
724 AA06BS170 14 1/4”-20 x 1 in. Bolt
725 AU02AB171 28 1/4 in. Washer
726 AT30AB171 14 1/4 in. Nut
727 38APHAAAL--A00 1 Motormaster Pressure Transducer Harness (2x)
728 HY93NH085 3 Bushing
729 38AP1GS001 1 Gasket Kit
731 AC41AB100 4 No. 8-32 x 3/8 in. Screw
732 09DPHADAF--A00 1 Motormaster Jumper Harness

LEGEND

FB — Fuse Block

FR — Fan Relay

MMR — Motormaster Relay

OFC — Outdoor Fan Contactor

SPDT — SIngle Pole Double Throw

TB — Terminal Block



61

 APPENDIX A — ACCESSORY PACKAGE CONTENTS (CONT)

ACCESSORY
PART NO.

ITEM
NUMBER PART NO. QTY PART DESCRIPTION

38AP-900---45

100 HR46TN040 1 Motormaster Controller, 460-v
200 38APHAAAFVP-A30 1 Power-In Harness
202 38APHAAAFVP-AB0 1 Power-Out Harness
204 38APHAAAFVC-A30 1 Control Harness
206 38APHLSCFW-A00 1 Fuse Block Jumper
208 09DPHLDAFW-A01 1 FB1/FB3 to TB1 Harness
210 38APHSCMFV-A01 1 MMR Harness 
212 38APHSCALXCA20 1 Auxiliary Harness
300 HY10KB200 6 Fuse, 20AMP
400 HY11MR033 2 Fuse Block
500 HN61ZP032 1 SPDT Relay
501 HY11TC032 1 Relay Socket
600 HY84MR022 1 Terminal Block
701 AL80AU170 10 No. 8 x 1/2 in. Screw
704 HY76TB162 10 Wire Tie
706 KA99FT060 2 DIN Rail End Stop
707 XBANS3575P-8 1 DIN Rail, 0.3 x 8.0
711 HK05ZZ010 1 Motormaster Pressure Transducer
712 38APMSCLCA-A00 1 Auxiliary Bracket
714 XBANS3575P-6 1 DIN Rail, 0.3 x 6.0
715 HK50AA067 1 Auxiliary Board
716 38APHSCALXCA00 1 Auxiliary Communications Harness
717 38APHSCALXCA10 1 Auxiliary Power Harness
718 38AP1ES000 1 Enclosure Assembly
719 AL04AG306 8 1/4”-20 x 1/2 in. Screw
723 38AP1BS001 1 Mounting Brackets, Cantilever Style (2x)
724 AA06BS170 14 1/4”-20 x 1 in. Bolt
725 AU02AB171 28 1/4 in. Washer 
726 AT30AB171 14 1/4 in. Nut
727 38APHAAAL--A00 1 Motormaster Pressure Transducer Harness (2x)
728 HY93NH085 3 Bushing
729 38AP1GS001 1 Gasket Kit
731 AC41AB100 4 No. 8-32 x 3/8 in. Screw
732 09DPHADAF--A00 1 Motormaster Jumper Harness

LEGEND

FB — Fuse Block

FR — Fan Relay

OFC — Outdoor Fan Contactor

MMR — Motormaster Relay

SPDT — Single Pole Double Throw

TB — Terminal Block



62

 APPENDIX A — ACCESSORY PACKAGE CONTENTS (CONT)

ACCESSORY
PART NO.

ITEM
NUMBER PART NO. QTY PART DESCRIPTION

38AP-900---46

100 HR46TN042 1 Motormaster Controller, 575-v
200 38APHAAAFVP-A30 1 Power-In Harness
202 38APHAAAFVP-AB0 1 Power-Out Harness
204 38APHAAAFVC-A30 1 Control Harness
206 38APHLSCFW-A00 1 Fuse Block Jumper
208 09DPHLDAFW-A01 1 FB1/FB3 to TB1 Harness
210 38APHSCMFV-A01 1 MMR Harness
212 38APHSCALXCA20 1 Auxiliary Harness
300 HY10KB200 6 Fuse, 20AMP
400 HY11MR033 2 Fuse Block
500 HN61ZP032 1 SPDT Relay
501 HY11TC032 1 Relay Socket
600 HY84MR022 1 Terminal Block
701 AL80AU170 10 No. 8 x 1/2 in. Screw 
704 HY76TB162 10 Wire Tie
706 KA99FT060 2 DIN Rail End Stop
707 XBANS3575P-8 1 DIN Rail, 0.3 x 8.0
711 HK05ZZ010 1 Motormaster Pressure Transducer
712 38APMSCLCA-A00 1 Auxiliary Bracket
714 XBANS3575P-6 1 DIN Rail, 0.3 x 6.0
715 HK50AA067 1 Auxiliary Board
716 38APHSCALXCA00 1 Auxiliary Communications Harness
717 38APHSCALXCA10 1 Auxiliary Power Harness
718 38AP1ES000 1 Enclosure Assembly
719 AL04AG306 8 1/4”-20 x 1/2 in. Screw
723 38AP1BS001 1 Mounting Brackets, Cantilever Style (2x)
724 AA06BS170 14 1/4”-20 x 1 in. Bolt
725 AU02AB171 28 1/4 in. Washer
726 AT30AB171 14 1/4 in. Nut
727 38APHAAAL--A00 1 Motormaster Pressure Transducer Harness (2x)
728 HY93NH085 3 Bushing
729 38AP1GS001 1 Gasket Kit
731 AC41AB100 4 No. 8-32 x 3/8 in. Screw
732 09DPHADAF--A00 1 Motormaster Jumper Harness

LEGEND

FB — Fuse Block

FR — Fan Relay

OFC — Outdoor Fan Contactor

MMR — Motormaster Relay

SPDT — Single Pole Double Throw

TB — Terminal Block



63

 APPENDIX A — ACCESSORY PACKAGE CONTENTS (CONT)

ACCESSORY
PART NO.

ITEM
NUMBER PART NO. QTY PART DESCRIPTION

38AP-900---47

100 HR46TN038 2 Motormaster Controller, 230-v
200 38APHAAAFVP-A40 1 Power-In Harness (Dual)
202 38APHAAAFVP-AC0 1 Power-Out Harness (Dual)
204 38APHAAAFVC-A40 1 Control Harness (Dual)
206 38APHLSCFW-A00 1 Fuse Block Jumper
209 38APHLSLFV-A01 1 OFC to FR and FB1 to FB10/11 Harness
212 38APHSCALXCA20 1 Auxiliary Harness
300 HY10KB300 9 Fuse, 30AMP
400 HY11MR033 3 Fuse Block
500 HN61ZP032 2 SPDT Relay
501 HY11TC032 2 Relay Socket
600 HY84MR022 2 Terminal Block
701 AL80AU170 10 No. 8 x 1/2 in. Screw
704 HY76TB162 10 Wire Tie
706 KA99FT060 2 DIN Rail End Stop
707 XBANS3575P-8 1 DIN Rail, 0.3 x 8.0
711 HK05ZZ010 2 Motormaster Pressure Transducer
715 HK50AA067 1 Auxiliary Board
716 38APHSCALXCA00 1 Auxiliary Communications Harness
717 38APHSCALXCA10 1 Auxiliary Power Harness
718 38AP1ES000 1 Enclosure Assembly
719 AL04AG306 8 1/4”-20 x 1/2 in. Screw
722 38AP1BS000 1 Mounting Bracket, Bridge Style
724 AA06BS170 14 1/4”-20 x 1 in. Bolt
725 AU02AB171 28 1/4 in. Washer
726 AT30AB171 14 1/4 in. Nut 
727 38APHAAAL--A00 1 Motormaster Pressure Transducer Harness (2x)
729 38AP1GS001 1 Gasket Kit
731 AC41AB100 4 No. 8-32 x 3/8 in. Screw
732 09DPHADAF--A00 2 Motormaster Jumper Harness

LEGEND

FB — Fuse Block

FR — Fan Relay

OFC — Outdoor Fan Contactor

SPDT — Single Pole Double Throw

TB — Terminal Block



64

 APPENDIX A — ACCESSORY PACKAGE CONTENTS (CONT)

ACCESSORY
PART NO.

ITEM
NUMBER PART NO. QTY PART DESCRIPTION

38AP-900---48

100 HR46TN040 2 Motormaster Controller, 460-v
200 38APHAAAFVP-A40 1 Power-In Harness (Dual)
202 38APHAAAFVP-AC0 1 Power-Out Harness (Dual)
204 38APHAAAFVC-A40 1 Control Harness (Dual)
206 38APHLSCFW-A00 1 Fuse Block Jumper 
209 38APHLSLFV-A01 1 OFC to FR and FB1 to FB10/11 Harness
212 38APHSCALXCA20 1 Auxiliary Harness
300 HY10KB200 9 Fuse, 20AMP
400 HY11MR033 3 Fuse Block
500 HN61ZP032 2 SPDT Relay
501 HY11TC032 1 Relay Socket
600 HY84MR022 2 Terminal Block
701 AL80AU170 10 No. 8 x 1/2 in. Screw
704 HY76TB162 10 Wire Tie
706 KA99FT060 2 DIN Rail End Stop
707 XBANS3575P-8 1 DIN Rail, 0.3 x 8.0
711 HK05ZZ010 2 Motormaster Pressure Transducer
715 HK50AA067 1 Auxiliary Board
716 38APHSCALXCA00 1 Auxiliary Communications Harness
717 38APHSCALXCA10 1 Auxiliary Power Harness
718 38AP1ES000 1 Enclosure Assembly
719 AL04AG306 8 1/4”-20 x 1/2 in. Screw
722 38AP1BS000 1 Mounting Bracket, Bridge Style (2x)
724 AA06BS170 14 1/4”-20 x 1 in. Bolt
725 AU02AB171 28 1/4 in. Washer 
726 AT30AB171 14 1/4 in. Nut
727 38APHAAAL--A00 1 Motormaster Pressure Transducer Harness (2x)
729 38AP1GS001 1 Gasket Kit
731 AC41AB100 4 No. 8-32 x 3/8 in. Screw
732 09DPHADAF--A00 2 Motormaster Jumper Harness

LEGEND

FB — Fuse Block

FR — Fan Relay

OFC — Outdoor Fan Contactor

SPDT — Single Pole Double Throw

TB — Terminal Block



65

 APPENDIX A — ACCESSORY PACKAGE CONTENTS (CONT)

ACCESSORY
PART NO.

ITEM
NUMBER PART NO. QTY PART DESCRIPTION

38AP-900---49

100 HR46TN042 2 Motormaster Controller, 575-v
200 38APHAAAFVP-A40 1 Power-In Harness (Dual)
202 38APHAAAFVP-AC0 1 Power-Out Harness (Dual)
204 38APHAAAFVC-A40 1 Control Harness (Dual)
206 38APHLSCFW-A00 1 Fuse Block Jumper 
209 38APHLSLFV-A01 1 OFC to FR and FB1 to FB10/11 Harness
212 38APHSCALXCA20 1 Auxiliary Harness
300 HY10KB200 9 Fuse, 20AMP
400 HY11MR033 3 Fuse Block
500 HN61ZP032 2 SPDT Relay
501 HY11TC032 2 Relay Socket
600 HY84MR022 2 Terminal Block
701 AL80AU170 10 No. 8 x 1/2 in. Screw
704 HY76TB162 10 Wire Tie
706 KA99FT060 2 DIN Rail End Stop
707 XBANS3575P-8 1 DIN Rail, 0.3 x 8.0
711 HK05ZZ010 2 Motormaster Pressure Transducer
715 HK50AA067 1 Auxiliary Board
716 38APHSCALXCA00 1 Auxiliary Communications Harness
717 38APHSCALXCA10 1 Auxiliary Power Harness
718 38AP1ES000 1 Enclosure Assembly
719 AL04AG306 8 1/4”-20 x 1/2 in. Screw 
722 38AP1BS000 1 Mounting Bracket, Bridge Style
724 AA06BS170 14 1/4”-20 x 1 in. Bolt
725 AU02AB171 28 1/4 in. Washer 
726 AT30AB171 14 1/4 in. Nut
727 38APHAAAL--A00 1 Motormaster Pressure Transducer Harness (2x)
729 38AP1GS001 1 Gasket Kit
731 AC41AB100 4 No. 8-32 x 3/8 in. Screw
732 09DPHADAF--A00 2 Motormaster Jumper Harness

LEGEND

FB — Fuse Block

FR — Fan Relay

OFC — Outdoor Fan COntactor

SPDT — Single Pole Double Throw

TB — Terminal Block



66

 APPENDIX A — ACCESSORY PACKAGE CONTENTS (CONT)

ACCESSORY
PART NO.

ITEM
NUMBER PART NO. QTY PART DESCRIPTION

38AP-900---50

100 HR46TN038 1 Motormaster Controller, 230-v
200 38APHAAAFVP-A60 1 Power-In Harness
202 38APHAAAFVP-AE0 1 Power-Out Harness
204 38APHAAAFVC-A60 1 Control Harness
210 38APHSCMFV-A01 1 MMR Harness
211 38APHLSMFV-A01 1 FB/FR/OFC Harness
212 38APHSCALXCA20 1 Auxiliary Harness, 
300 HY10KB300 6 Fuse, 20AMP
400 HY11MR033 2 Fuse Block
500 HN61ZP032 1 SPDT Relay 
501 HY11TC032 1 Relay Socket
600 HY84MR022 1 Terminal Block
701 AL80AU170 10 No. 8 x 1/2 in. Screw
704 HY76TB162 10 Wire Tie
706 KA99FT060 2 DIN Rail End Stop
707 XBANS3575P-8 1 DIN Rail, 0.3 X 8.0
715 HK50AA067 1 Auxiliary Board
716 38APHSCALXCA00 1 Auxiliary Communications Harness
717 38APHSCALXCA10 1 Auxiliary Power Harness
718 38AP1ES000 1 Enclosure Assembly
719 AL04AG306 8 1/4-20 x 1/2 in. Screw
722 38AP1BS000 1 Mounting Bracket, Bridge Style
723 38AP1BS001 1 Mounting Brackets, Cantilever Style (2X)
724 AA06BS170 14 1/4-20 X 1-in. Bolt
725 AU02AB171 28 1/4-in.Washer
726 AT30AB171 (14) 14 1/4-in. Nut
728 HY93NH085 3 Bushing
729 38AP1GS001 1 Gasket Kit
731 AC41AB100 4 No. 8-32 x 3/8 in. Screw
732 09DPHADAF--A00 1 Motormaster Jumper Harness

LEGEND

FB — Fuse Block

FR — Fan Relay

OFC — Outdoor Fan Contactor

MMR — Motormaster Relay

SPDT — Single Pole Double Throw

TB — Terminal Block



67

 APPENDIX A — ACCESSORY PACKAGE CONTENTS (CONT)

ACCESSORY
PART NO.

ITEM
NUMBER PART NO. QTY PART DESCRIPTION

38AP-900---51

100 HR46TN040 1 Motormaster Controller, 460-v
200 38APHAAAFVP-A60 1 Power-In Harness
202 38APHAAAFVP-AE0 1 Power-Out Harness
204 38APHAAAFVC-A60 1 Control Harness
210 38APHSCMFV-A01 1 MMR Harness
211 38APHLSMFV-A01 1 FB/FR/OFC Harness
212 38APHSCALXCA20 1 Auxiliary Harness
300 HY10KB200 6 Fuse, 20AMP
400 HY11MR033 2 Fuse Block
500 HN61ZP032 1 SPDT Relay
501 HY11TC032 1 Relay Socket
600 HY84MR022 1 Terminal Block
701 AL80AU170 10 No. 8 x 1/2 in. Screw 
704 HY76TB162 10 Wire Tie
706 KA99FT060 2 DIN Rail End Stop
707 XBANS3575P-8 1 DIN Rail, 0.3 x 8.0
715 HK50AA067 1 Auxiliary Board
716 38APHSCALXCA00 1 Auxiliary Communications Harness
717 38APHSCALXCA10 1 Auxiliary Power Harness
718 38AP1ES000 1 Enclosure Assembly
719 AL04AG306 8 1/4”-20 x 1/2 in. Screw, 
722 38AP1BS000 1 Mounting Bracket, Bridge Style
723 38AP1BS001 1 Mounting Brackets, Cantilever Style (2x)
724 AA06BS170 14 1/4”-20 x 1 in. Bolt
725 AU02AB171 28 1/4 in. Washer 
726 AT30AB171 14 1/4 in. Nut
728 HY93NH085 3 Bushing
729 38AP1GS001 1 Gasket Kit
731 AC41AB100 4 No. 8-32 x 3/8 in. Screw
732 09DPHADAF--A00 1 Motormaster Jumper Harness

LEGEND

FB — Fuse Block

FR — Fan Relay

MMR — Motormaster Relay

OFC — Outdoor Fan COntactor

SPDT — Single Pole Double Throw

TB — Terminal Block



68

 APPENDIX A — ACCESSORY PACKAGE CONTENTS (CONT)

ACCESSORY
PART NO.

ITEM
NUMBER PART NO. QTY PART DESCRIPTION

38AP-900---52

100 HR46TN042 1 Motormaster Controller, 575-v
200 38APHAAAFVP-A60 1 Power-In Harness
202 38APHAAAFVP-AE0 1 Power-Out Harness
204 38APHAAAFVC-A60 1 Control Harness
210 38APHSCMFV-A01 1 MMR Harness
211 38APHLSMFV-A01 1 FB/FR/OFC Harness
212 38APHSCALXCA20 1 Auxiliary Harness
300 HY10KB200 6 Fuse, 20AMP
400 HY11MR033 2 Fuse Block
500 HN61ZP032 1 SPDT Relay
501 HY11TC032 1 Relay Socket
600 HY84MR022 1 Terminal Block
701 AL80AU170 10 No. 8 x 1/2 in. Screw
704 HY76TB162 10 Wire Tie
706 KA99FT060 2 DIN Rail End Stop
707 XBANS3575P-8 1 DIN Rail- 0.3 x 8.0
715 HK50AA067 1 Auxiliary Board
716 38APHSCALXCA00 1 Auxiliary Communications Harness
717 38APHSCALXCA10 1 Auxiliary Power Harness
718 38AP1ES000 1 Enclosure Assembly
719 AL04AG306 8 1/4”-20 x 1/2 in. Screw
722 38AP1BS000 1 Mounting Bracket, Bridge Style
723 38AP1BS001 1 Mounting Brackets, Cantilever Style (2x)
724 AA06BS170 14 1/4”-20 x 1 in. Bolt
725 AU02AB171 28 1/4 in. Washer
726 AT30AB171 14 1/4 in. Nut
728 HY93NH085 3 Bushing
729 38AP1GS001 1 Gasket Kit
731 AC41AB100 4 No. 8-32 x 3/8 in. Screw
732 09DPHADAF--A00 1 Motormaster Jumper Harness

LEGEND

FB — Fuse Block

FR — Fan Relay

OFC — Outdoor Fan COntactor

MMR — Motormaster Relay

SPDT — Single Pole Double Throw

TB — Terminal Block



69

 APPENDIX A — ACCESSORY PACKAGE CONTENTS (CONT)

ACCESSORY
PART NO.

ITEM
NUMBER PART NO. QTY PART DESCRIPTION

38AP-900---53

100 HR46TN038 2 Motormaster Controller, 230-v
200 38APHAAAFVP-A70 1 Power-In Harness
202 38APHAAAFVP-AF0 1 Power-Out Harness
204 38APHAAAFVC-A70 1 Control Harness
206 38APHLSCFW-A00 1 Fuse Block Jumper 
208 09DPHLDAFW-A01 1 FB1/FB3 to TB1 Harness
209 38APHLSLFV-A01 1 OFC to FR and FB1 to FB10/11 Harness
212 38APHSCALXCA20 1 Auxiliary Harness
300 HY10KB300 9 Fuse, 30AMP
400 HY11MR033 3 Fuse Block
500 HN61ZP032 2 SPDT Relay
501 HY11TC032 2 Relay Socket
600 HY84MR022 2 Terminal Block
701 AL80AU170 10 No. 8 x 1/2 in. Screw
704 HY76TB162 10 Wire Tie
706 KA99FT060 2 DIN Rail End Stop
707 XBANS3575P-8 1 DIN Rail, 0.3 x 8.0
711 HK05ZZ010 2 Motormaster Pressure Transducer
715 HK50AA067 1 Auxiliary Board
716 38APHSCALXCA00 1 Auxiliary Communications Harness
717 38APHSCALXCA10 1 Auxiliary Power Harness
718 38AP1ES000 1 Enclosure Assembly
719 AL04AG306 8 1/4”-20 x 1/2 in. Screw
722 38AP1BS000 1 Mounting Bracket, Bridge Style
724 AA06BS170 14 1/4”-20 x 1 in. Bolt
725 AU02AB171 28 1/4 in. Washer 
726 AT30AB171 14 1/4 in. Nut 
727 38APHAAAL--A00 1 Motormaster Pressure Transducer Harness (2x)
729 38AP1GS001 1 Gasket Kit
731 AC41AB100 4 No. 8-32 x 3/8 in. Screw
732 09DPHADAF--A00 2 Motormaster Jumper Harness

LEGEND

FB — Fuse Block

FR — Fan Relay

OFC — Outdoor Fan Contactor

SPDT — Single Pole Double Throw

TB — Terminal Block



70

 APPENDIX A — ACCESSORY PACKAGE CONTENTS (CONT)

ACCESSORY
PART NO.

ITEM
NUMBER PART NO. QTY PART DESCRIPTION

38AP-900---54

100 HR46TN040 2 Motormaster Controller, 460-v
200 38APHAAAFVP-A70 1 Power-In Harness (Dual)
202 38APHAAAFVP-AF0 1 Power-Out Harness (Dual)
204 38APHAAAFVC-A70 1 Control Harness (Dual)
206 38APHLSCFW-A00 1 Fuse Block Jumper 
208 09DPHLDAFW-A01 1 FB1/FB3 to TB1 Harness
209 38APHLSLFV-A01 1 OFC to FR and FB1 to FB10/11 Harness
212 38APHSCALXCA20 1 Auxiliary Harness
300 HY10KB200 9 Fuse, 20AMP
400 HY11MR033 3 Fuse Block
500 HN61ZP032 2 SPDT Relay
501 HY11TC032 2 Relay Socket
600 HY84MR022 2 Terminal Block
701 AL80AU170 10 No. 8 x 1/2 in. Screw
704 HY76TB162 10 Wire Tie
706 KA99FT060 2 DIN Rail End Stop
707 XBANS3575P-8 1 DIN Rail, 0.3 x 8.0
711 HK05ZZ010 2 Motormaster Pressure Transducer
715 HK50AA067 1 Auxiliary Board
716 38APHSCALXCA00 1 Auxiliary Communications Harness
717 38APHSCALXCA10 1 Auxiliary Power Harness
718 38AP1ES000 1 Enclosure Assembly
719 AL04AG306 8 1/4”-20 x 1/2 in. Screw
722 38AP1BS000 1 Mounting Bracket, Bridge Style
724 AA06BS170 14 1/4”-20 x 1 in. Bolt
725 AU02AB171 28 1/4 in. Washer
726 AT30AB171 14 1/4 in. Nut
727 38APHAAAL--A00 1 Motormaster Pressure Transducer Harness (2x)
729 38AP1GS001 1 Gasket Kit
731 AC41AB100 4 No. 8-32 x 3/8 in. Screw
732 09DPHADAF--A00 2 Motormaster Jumper Harness

LEGEND

FB — Fuse Block

FR — Fan Relay

OFC — Outdoor Fan Contactor

SPDT — Single Pole Double Throw

TB — Terminal Block



71

 APPENDIX A — ACCESSORY PACKAGE CONTENTS (CONT)

ACCESSORY
PART NO.

ITEM
NUMBER PART NO. QTY PART DESCRIPTION

38AP-900---55

100 HR46TN042 2 Motormaster Controller, 575-v
200 38APHAAAFVP-A70 1 Power-In Harness (Dual)
202 38APHAAAFVP-AF0 1 Power-Out Harness (Dual)
204 38APHAAAFVC-A70 1 Control Harness (Dual)
206 38APHLSCFW-A00 1 Fuse Block Jumper
208 09DPHLDAFW-A01 1 FB1/FB3 to TB1 Harness
209 38APHLSLFV-A01 1 OFC to FR and FB1 to FB10/11 Harness 
212 38APHSCALXCA20 1 Auxiliary Harness
300 HY10KB200 9 Fuse, 20AMP
400 HY11MR033 3 Fuse Block
500 HN61ZP032 2 SPDT Relay
501 HY11TC032 2 Relay Socket
600 HY84MR022 2 Terminal Block
701 AL80AU170 10 No. 8 x 1/2 in. Screw
704 HY76TB162 10 Wire Tie
706 KA99FT060 2 DIN Rail End Stop
707 XBANS3575P-8 1 DIN Rail, 0.3 x 8.0
711 HK05ZZ010 2 Motormaster Pressure Transducer
715 HK50AA067 1 Auxiliary Board
716 38APHSCALXCA00 1 Auxiliary Communications Harness
717 38APHSCALXCA10 1 Auxiliary Power Harness
718 38AP1ES000 1 Enclosure Assembly
719 AL04AG306 8 1/4”-20 x 1/2 in. Screw
722 38AP1BS000 1 Mounting Bracket, Bridge Style
724 AA06BS170 14 1/4”-20 x 1 in. Bolt
725 AU02AB171 28 1/4 in. Washer
726 AT30AB171 14 1/4 in. Nut
727 38APHAAAL--A00 1 Motormaster Pressure Transducer Harness (2x)
729 38AP1GS001 1 Gasket Kit
731 AC41AB100 4 No. 8-32 x 3/8 in. Screw
732 09DPHADAF--A00 2 Motormaster Jumper Harness

LEGEND

FB — Fuse Block

FR — Fan Relay

OFC — Outdoor Fan Contactor

SPDT — Single Pole Double Throw

TB — Terminal Block



Manufacturer reserves the right to discontinue, or change at any time, specifications or designs without notice and without incurring obligations.

Catalog No. 04-53090039-01 Printed in U.S.A. Form No. 09-30-38-17SI Pg 72 1-24 Replaces: NEW

© 2024 Carrier


	SAFETY CONSIDERATIONS
	GENERAL
	PRE-INSTALLATION
	INSTALLATION
	Step 1 — Install Wind Baffles
	Step 2 — Install Accessory
	30RAP and 38AP Unit installation
	09DP Unit Installation


	START-UP
	Motormaster® Parameter Instructions
	30RAP and 38AP Units
	09DP units
	troubleshooting
	faults
	alarms




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


